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CHILDREN! THESE INSTRUCTIONS FOR YOU...

¢ Foreach and every conceptual understanding, a real life context with appropriate illustrations are given in the
textbook. Try to understand the concept through keen reading of context along with observation of illustration.

¢ While understanding the concepts through activities, some doubts may arise. Clarify those doubts by through
discussion with your friends and teachers, understand the mathematical concepts without any doubts.

¢ "Do this/Do these" exercises are given to test yourself, how far the concept has been understood. If you are
facing any difficulty in solving problems in these exercises, you can clarify them by discussing with your
teacher.

¢ The problems given in "Try this/try these", can be solved by reasoning, thinking creatively and extensively.
When you face difficulty in solving these problems, you can take the help of your friends and teachers.

¢ The activities or discussion points given "Think & disicuss" have been given for extensive understanding of
the concept by thinking critically. These activities should be solved by discussions with your fellow students
and teachers.

¢ Different typs of problems with different concepts discussed in the chapter are given in an "Exercise" given at
the end of the concept/chapter. Try to solve these problems by yourself at home or leisure time in school.

¢ The purpose of "Do this"/do these", and "Try this/try these" exercises is to solve problems in the presence of
teacher only in the class itself.

¢  Where ever the "project works" are given in the textbook, you should conduct them in groups. But the
reports of project works should be submitted indivedually.

¢  Try to solve the problems given as homework on the day itself. Clarify your doubts and make corrections
also on the day itself by discussions with your teachers.

¢ Tryto collect more problems or make new problems on the concepts learnt and show them to your teachers
and fellow students.

¢  Try to collect more puzzles, games and interesting things related to mathematical concepts and share with
your friends and teachers.

¢ Do not confine mathematical conceptual understanding to only classroom. But, try to relate them with your
suroundings outside the classroom.

¢ Student must solve problems, give reasons and make proofs, be able to communicate mathematically, connect
concepts to understand more concepts & solve problems and able to represent in mathematics learning.

¢ Whenever you face difficulty in achieving above competencies/skills/standards, you may take the help of
your teachers.
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TS ISR Hees THETs 2011 = foemeatan e i
SfieTd ST 9 IMeaTel YA Jevar=a gi¥emn foar &% &
At Shest o1mR. frequmren geRk 3fde 2009 &1 ITHEA TS foneie
SIGHTd ShISTeTaT A SR KLl J1aT 14 auiErdsiss g Reomds
hrereaTE foehre et Ara, Rrevdie S gurrET ' g A1 g
TER qTdediar &I UTeagEashre FHiHd 2005 =1 TR ST=AeshH STRTEST
3T 2011 HEA TR THUAT ST 3718,

o wrerfires fRregor qut sieRmeR foemeff werfies fRreomehe Fesdr. €=
o5 wTeAfieh TIETUTeRe BT TS, 39U SITOTdl Y, JSHHT do5, TaTa=
3. Tooama SaT=a TG SR 9ed. a0 9O Higar=A1 g2, il €, HiEH,
TTTeh TUT, SATUE, R HHET, 3TTegH THehREl A1 FI=1 AT I
HB AR,

Tt =T Sshal FHS o= fohrd il I S
AT, TR0, i, HEwawT, TR g et Seifieh et
IR AT AR MYRIA TS Il TIHAT SHeHTd e o= T
Iren frem e R,

T GEIRIA ST hd ShLOT=AT TeAT hal, TANT, FUEHE], T
U, Tehedshd TR SR ITHITeh HSHIS! SRS Hehe T
T T TS AT HEA HHISE hedl ATed. 18 ASHIS LT JasiHTEt
SR HTed JeaHToH T ST 7L ishal STGHATR SEu=

3R

ATq ST ST Frerhr=n quTew oy A== faem odeE
T gEdehTel ToHT 0T ST 3Tg. AT ITEATIh HEhi1 3T+eh Jeaehre!
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qguife A0

1.0 TEATIAT

IO AT 1, 2, 3, 4, ... TEI HISOATE GEaTd Hild Tl
T G YN AG(iieh T 318 TEural, o 9ot a1 faweft
ferem .

()  BEET BEM ek TEAT hIv ?
() 100 3mfeT 10000 Imeftss urer G@fifes e o
(i)  Efif dearen Yae HIS Bdl 7 qrE |7 b

S ?

(iv)  RIVCATE F HHAR TS Wb fehelt
Il 7

0" =1 HuTS HEA SAIUNE AHfiR €@ 0, 1, 2, 3, 4, ... WSl I AT AU U HEAT
TE T,

ST RIS AT KOS Rehadld. ST 3707 Ui ST 9 K01 HEAT Uehd hedTd IUITE qUlieh
T e &9 S0 AT TG RRUIR T8, qUTih AT el SUAnT ST T[ored Jrfersht
ST AT

)/ INTEGERS
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v
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() T Wallss HigATd Hidt quiieh AT ShivTd ?
(i)  TEN WIlie Faid BeH YUl T&AT HIvIdl ?
(i) -3 e 1 & HEA Wil 3y H? BT G
(iv) -6 9T -3 E T Wit 3R H17 HROT TT?
v) 4,6, -2, 0 3f1 -5 71 G T&cA HAW foE.
(vi) (0 3mfer 1), (0 3mfer -1) AT BLRRT AT TEAT WAk L.
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2. Wde Uit GEIA STl UTEl. & Ui HE FIEiiie BEMd S S Higand

Tt e |
(i)-5, -10 (i) 3, -2 (iii) -8, 5

3. WO Uit ATl HISU Fecdl ShAH . (BEEIET - Higd q&iehs)
(i)-5,2,1,-8 (ii)—4,-3,-5,2 (iii) =10, 15,7

4, WSS Ui T IaLAT HAH HIST. (HISAIRT - FEH H&ihs)
(i)-2,-3,-5 (ii) -8, -2, -1 (iif) 5, 8,2

5. &S 37 AT W grEdl. 6, -4, 0, 4
6. e HEINST U .

-9 -5 0 4 8

A
v

7. WS el MU 91d feadre auE o 38, d STEImya grgal.

||||||||||||||||||||||||||||||||||||||

(iv)  hIvTe STEU= a0 de st 318 ?
(v)  hIvTe SEe aeEe 00 e Sed 3T ?

1.1 i T@ale e

31 HETEd SIS 9 aSiraehl & TR fRrehaid. Wem S1Tu1 39Ul HEAT 9 T UMK & TR
1 Toparfarelt ferepan.
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1.1.1 Ui weE=t i

GSo st e .
4+3 =7
4+2 =6
4+1 =5

4+0 =4

3
2
1

4+ (-1)
4+(2) =
4+(3) =
1 3T T wiedia 1 Seat | w@n arefadt fhar wH okt @ fhAa 1 9 ared fohar @t
. (3,2, 1, 0, -1, -2, -3).
Tae J A1 WA, Siegl gl 3 d 4 Wesars degt 3ue QIQ"L@I%HHWGEYS.
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< »

6 -5 -4 3 2 -1 0 1 2 3 4 5 6 7
TATSHI a2 0T 1 T 4 BN He Sios HEAT WAl g Iehdl ¢ TETB feHe i, T Ja!
Idihe dTed STdie.

HTAT UTEAT hl, S TSS. 390 -1 d 4 THesq, eyl 3T 3 fircde. 3Td1 AU HEal We
1 Ul SreeRs ST .

1

R T R T R R R T D T R

[
»

AT 39V UTfEes <1, -2 oMM -3 =ff 989 aiies Teamyer fohdt 312 7 17T = Sard AT
1, STihe THAHT Tcish Jo3d STolHed HH! HH! BId S5 STV Iofaehle TG dTed 5.

AWM TR vH T fisfacad Iodiee 9ed B 9 TR 934w e fefaen
gEhe 916 .

FETETST )
1. 9+7 = 16 9+1 =
9+6 = 15 9+0 =
9+5 = 9+ (1) =
9+4 = 9+(2) =
9+3 = 9+(3) =
. A y
.
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() oTaT HE WA 9 + 2, 9+(-1) TR 9 +(-3) FraA.
(i) SeRT TrEl Tl wquTieh T et ; SRt HeH WeR <hIvie WS Wied
.

(iii) SToET TrEt TETE FHUIqUITsh HEAT fHeafardr ; TogT T THaR iV SN[ HisTd
7.

2. @il TSt i, YAh dBH Seal 2 YU e fuesfaar el S
fopArefiueT ST ¥d. B T FEUMl SE T8 17 SHROT |

~

. J
= T - 2
1.
i 5+7 (i) 5+2 (i) ~ 5+(=2) (v) 5+ (-7)
2 o .
G 7+4 (i) 8+(-3) i) 11+3
(iv) 14+ (=6) V) 9+(-7) (vi) 14+ (~10)
(vil) 13+ (~15) (viii) 4 + (=4) (ix) 10+ (-2)
(x) 100 + (-80) (xi) 225+ (~145)
1.1.2 quishret  Setemht
WSS IATeTeh=l 3ATE 6.
6-3 =3
6-2 =4
6-1 =5
6-0 =6
6-(-1) = 7
6-(2) = 8
6-(3) =9
6-(4) = 10

et A1 I fa wigeda w17 (3, 2, 1, 0, -1, =2, -3, -4) 799 Sferded i, 1 T gl
FHH Bd JTd, ATASE A9V TcIehld | FehT= Bk TTEd.

SiegT Rl 6 WYd 3 ISl Shidl deal Jrel HEANYeR STeihs T3

63
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TEET AT ATEIE 6 e[ 2, 1 < TR SrEEl. JHSAT 3 BT A5 hl, JFEl Tk dodt

SIFTdTS[shs desd JHTRTd.

SATAT STTIU 9Tg A1 1 6 HYgd -1 = Iareh] AT FFAET HE TESd d IEAT. TS TGATER
AU 378 BB hl, 6-(-1) =7

STIMYHR IV FEARNR Teh U ISdIehe dosd ATAI.

6-(=1)

& Il Il Il Il Il Il Il Il Il Il Il Il Il >
< T T »

5 4 03 02 10 1 2 3 4 5 6 1 8

T G -2, -3, —4 T 6 TAq JIeTeh] SHEe Sehdl I ¢ Yoo Jo3¥ ST HEHTE
38 IS I, B HEINNT I9aThe ded IR

AMYFR, Jog GHEl TIEEEAT a9 PG dogl g SEhe dBTe.
M JogT FHUHEAT TN FIS dogl Tl Iodhe TS,

i

—

|
S = N W Bk O O
Il

O 0O O X XX XX X0 ©

|
|
=
N—"
Il

() AT T Wk 8-6, 8-1, 8-0, 8-(-2), 8-(-4)
(ii) SiegT TG GAYUIehIE] aTeTehl HiAT degl qral SEIARNET el feeH
a1 ?
(iii) SIe8T qFEl FRUTIUIhIE! ISRl AT o8l qral HEARYER vl feeH
a1 ?
2. T fomma vedt Y, @ aSEehl Hd AT H JUTH TEAT T I SThUET
TEM ITEd. e At qrel Hewa STETd Wi ¢ RO .

. J
AGMAT THRA Aiha faa=or 2019-20 Uik HE& 3
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e - 3

1. WSS IelaTehl T Wl Trgal.

i 7-2 () 8—(-7) (i) 3-7
(iv) 15-14 V) 5-(=8) V) (2)-(1D
2. @rEan
() 17-(-14) () 13-(-8) @iy 19-(-5)
(v) 15-28 v) 25-33 vi) 80— (- 50)
(vii) 150 75 (vii)y 32 — (- 18)
3. Y HA Hl, -6 5 FEIAT HOUI AT IU HEAT = oS AR
1.1.3 yieE@ IR

AT ATV YUThHE=T O & 2T
JIUTE HIE 318 1, 3+3+3+3=4 & 3 (4 oo 3)

7 MU0 HE&AT e qra
3 3 3 3

A, R

1 0 1 2 3 4 5 6 7 8 9 10 11 12 13

S SR 4 5 3 T i S 4 3 3 sadieS @ e,

HH 4w 3 = 12
4% (-3)=(3)+(3)+(3)+(3)=-12
T TNV TREad] A

v

<&
<

-3 -3 -3 -3

v

&
<

13 -12 -11 -10 -9 -8 7 6 5 -4 3 2 1 0 1

IWMIHR, 4 (-3) BN 4 & T TEEIRYR T3 dabt 0 TR I9ahe 3 TR J¢ SR

BIH 4 x(-3)=-12
TR, 5 % (—4) = (—4) + (4) + (4) + (-4) + (-4) = 20
T WA W gRIadl A,
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JIMIFR 5 x —4 TRV 5 BT TeAhdedl TEAT We () TR STeiehs 4 4 Y& Sl
TUE 5 x —4=-20
AT, 2x -5 = (=5)+(-5)=-10

3x—6 = (—6)+(-6) + (-6)=—-18

4x -8 = (8)+(8)+(-8)+(-8)= 32

quaTEarst
1. drean.

i 2x-6 () 5x-4 (i) 9 x4
TR . 4 x 3
WAIS ISR ITHTE 6.

4x3 = 12
3x3 = 9
2x3 = 6
1x3 =3
0x3 = 0
—1x3 = -3
2x3 = -6
3x3 = -9
4x3 = -12

Ok S 1 4 HHT hAT X UMD 3 HH gl

JTIMIHR AT TGAAR, 4 x 3 =-12.

AT B HIE 3R W, 4 x 3 =12

U, 3 x4=3x-4=-12

fargrl Friequr S T8 TUTHRIS e TUE®. TU® TgaIdar SUUTE 318 Fguldl 45 6,
4x-5 = 4 x5 = 20

2x-5 = 2 x5 = -10

3x-2 =

8 x 4 =

6x-5 =

TS IETEWNEEA 3T BT Id hl, GIYUITREEAT TN FHUIYUITHEEIT TUMhR 7T FROTUTTeherea
Iar

ASTHT TWHRA Aea F@wor 2019-20 Uik HE& 7
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1.1.3 (37) g9 HUYUIHET OISR
SR SMAU -3 AT —4 7= UMR Al R 1 BIEd ¢

Wl ISTET 1T,
3x4 = -I2
3x3 = 9
3x2 = -6
3x1 = 3
3x0 =0
3x-1 =3
3x2 = 6
3x-3 =9
3x4 = 12

2l IR IFE! UTfeasId A1 7 Siaeell Je31 T[UIeh Ueh dTe degl UhREGT 3 7 JTeeare U<l &
REE)

AT -4 MY -3 I UMHR HEd GTHG R ST 9.

—4x4 = —16
—4x3 = -12
4%x2 = -8

4x1 = 4
4%x0 = 0

Ax_] = —
4x-) = —
4x-3 = —

o 3 FigEHe 35 i, faeaest ek 1 5 Hl e faded JesT TR 4+ dTed 371%.
TEUH TS gF ISTEEEA, —3 x 4 =4 x -3 =12
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TRl 2 AT o> I
3x-]1=3 4 x-1=4
3x-2=6 4x-2=8
3x-3=9 4 x-3=12

E Y% 38 GH WU YUIHNT ISR hed™ GYUIh §&I= Id.
Fat 1

TS dihe Tcdeh SIS Tfgee ThI=Im=T ORI hed Ul .
X 3 2 1 0 |-1|-21]-3

3 9 6 310 (|-3|-6|-9

2 6 4 210

()  TF 99 qUNRHEHE UThR 64 YUNhHEATE 3THAl I ?
(i)  TF R YUHRHEET OMhR &4 YUIHEEIE Tl & ?
(i) o UNRTEAT § O UNIhEEIT UMhR KV JUIhHEATa 3THAl I 7

1.1.3 (9) 39 e wuguis d@dn R

3T TG IRl SR <hl, G 0T JUIThHE=N TUThR 99 qUIiehaed 318d. Tg 3, 4, S, 3.
RO JUIREEHT ORI hivId] HET 3THS ?

M  (2)x(3)=6

@ (2B HAH=[2)x (B (A =6x(4)=-24

(i)  (=2) x(3)* (A x(5)=[(2) x (B) X (A)] x (=5) = (24) x (-5) =120
) [(=2) x (3) x (4 x (=5) x (-6)] = 120 x (-6) =720

AT AR Ahd R 2019-20 Uik HE& 9
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TS TUMHNEEA YU 378 FTHM hied A5 hl,

()  TF O YUIHEEIET UTHR O YUTHEEAT 3.

(i) < O qUITREEIET UK ST qUIREEAT 3THd.

(i) = O YOIRHEIHT UMHR 9 UIHREET 376

(iv) U= RO e TOTRR KT YUIehEEAl 3THd.

TET RO QUHEEET UThR 9 3THG 1 U T8 ! HRO T

(grrETETst ~
\ [ @D CDxED=—

1 @ (DxDxEh)=—

@) (1)x (1)x (1) x (1) =——

|® (DXEDXED X DR =

J

0T Y21 378 918 I, TS 3 & AT IGTE0NA RUUIHEEAT G fehall AT e8] AT dogl
TR &4 QUIRHEI @ & & € IT IETEWId Uk & 90 de81 376 3 9 oI VIR @
HEE 3T

TEU STV 3TH TEU[ Wehdl i, S T URRIE! HEAT fINH 3TE® T =T OMRR KOT A
THE S HUMURRIET H&AT TH 3HG a o= AR TUhR &1 &9 75l

e - 4

1. TepmaT ST .

() (-100) X (—6) = oo,
() (3) X = 3

Gi) 100 X (<6) = oo

X

() (-20) X (<10) = oo

@) 15 X (3) = e,
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2. GIH UThRR Fiedl.

M 3x(1) ()  (=1)x225

(i) (=21) < (=30) () (=316)x(-1)

V) (15)x0x(-18) (Vi) (=12) x (=11) x (10)
(Vi) 9 x (=3) x (-6) (viil) (—=18) > (=5) x (-4)

() (=1)x(=2)x(3) x4 ®x) (3)x(6) x (=2) x (1)

3. TR SfiaeRtor Ufshad sifia st aome 3 40° afeast™ wae 3118, SR 3 augH gt aedt 5°
Yfewste HHt g1d T3 T 8T A T Tehet IMaehtor Ufshrht aitfedrdt wm1 ame am=n
JETT AL

4, Tcies TehT ar=viiETdl 10 I99 3TTed. Jeieh 3Tgeh Y18 3 707 11 gfehean Iaud -1
o W I 7 TSl 0 qor ot areoht Fat.

() M S TR IR SR M1 5 TR IR Teh fosfgest a fo= Tqor et ?
(i) AT 7 YA I SR Fiefadt. 3 I I fofedt ® f=r qor fomedt.

(iii) THH 3 TR I S W 4 I I Toled! @ et Tehex fomdl o1 fiesres ¢ fom
THet 7 T WSS

5. UH dig@ AN STEAT digesrel Tk Mot 10
TE USA ok, qEE WURY qiges 5 Al
[EETIACH

() @™ 3000 STEENT digesTeA MUt e 5000
TR qigear=A1 Mol g0al foehen @@ e
I AT Qv foet 7

(i) SR I TR qgesr=al 6400 Toft foeshean STodies @ <t diel Wea fevamard
FTEAT dgestean ferdl Mo foehren SrTdie ?

6. RTINS AT qUTieh EEAT AT
i) (-3)x =27 () 5 x =35

(i) x (-8) = 56 (iv) x (~12) = 132

1.1.4 YUl E&&=ET WRTHR
JTYUTE HTEId 3T <hl, 9IS g1 Tumehir=a foeg foRam otel.

TS ST HIE IETE ATl
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HIUTE HIEIG 3778 i, 3 % 5 =15

E, 15+5=30r15+3=5

T, 4 % 3 =12

U, 12+4=30r12+3=4

T i HEHST HHI HH G 4| AT STE Rehdrd.
HUT A HHeFa S0 fqar fosg, wrehdl 7

GIHS ISTE0 ST 9 q0f .

UM ITEL01 HTRT=N 3aTawl
2x(6)=(12) (-12)=(-6)=2 . (H12)72=(06)

(—4) x 5 = (-20) (-20) = (5) = (-4) (20 H=5

(-8)x (9)=72 72+ (-8)=(-9) . T25(9)=(8)
(3)% (7)= ()=
(-8)x 4=

5% (-9) =
(-10) x (-5) =

e TCEUMEET JAE A FHM Id Hl, Sog AU KPS WSS HAUIlH
TN WS Iwar fhar vl ERer RUUIRHEN WA Sl v QU HEdet
(-) 9Tl WM YRR IMUUTH W/ Uk fesal.

T &

1. qrea

() (~100)+5 G) (-81)+9 (i) (-75)+5 (v) (-32)+2
(v) 125+ (-25) (vi) 80+ (=5)  (vii) 64+(-16)

qUaTETat
VT 3T TRV Iehdl A (—48) + 8 = 48 + (-8)?

(i) 90 = (—45) 31T (-90) =45 (i)  (~136) + 4 (T 136 + (—4)
MU UG I UTfES i,

(—12) = (=6) =2; (-20) = (-4) = 5; (-32) + (-8) =4; (-45) = (-9) =5
WW@WWEQ,&:WWWW,
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3 &
1. drgan
0 -36+(4) (i) (-201)+(-3) (i) (-325)+(-13)
12 e Tued
ﬁmm@q@amwm.mmw@m
1.2.1 yUiedE Swe ues
@  E@ T
1.
IERIE] sy
5+8=13 309 € b o1,
6+3=
13+0=
10+2=
0+6=6 IS & iEe TR

gH g T Sl € U U Tl Sd i 7 JRETe] AT ST B o s, wevd
JTIUT 3TE] TEUL IRl <hl, GH YU HEe S 3 o ITHd.

TS qUIiehEeT §aa &1 oW Iesdrd w1 ¢ WG STEEl SR e qadl go7 .

foam ey
6+3=9 S & qurishEE 3R
10+2=
3+0=
—-6+6=0
(-2) +(=3)=-5
7+ (-6)= 9 & quUieREE 1]

3 QUiieREE= SIS & et qul Sen Sed S 7

Tl TEIG 3TH 3GTEWT ¢ Iehdl 17 hi SAT GH qUTeh H&AT SIS & qUlieh Fd. TR
IR RIS TISUR TRl TEUR qUIlh @ HaW 3.

;o |l AgS i, HIUAE g QU N F T, A+9 YU HEIE IEd.
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()  sHEfUETA ToTerd

e 9 fewren S qul O

faum | fagm 2 fosepd
4+3=7 3+4=7 4+3=3+4=17
3+5= 5+3=
3+0= 0+3=

TATEIYHTO] 3ATHOT ATUE ShTEl ISTETN 43 Iehdll. SAT sl TS oS
Teft T T IehTs 1A ? JEETHT TR HEAT IYAT AVR T8, TeUH IV T Ikl 6, B
ot shUfRYETET 3R,

e 9 Fehren S qul S

foram 1 ferem 2 frsepdd

5+(-6)=-1 (—6)+5=-1 54(-6)=(6)+5=-1
9+2= 2+(9)=

4+ = (=5)+(4)=

TETT P TG hodTd Sd 9¢ Bl HIA 7 UIesd hI? ATl g o shafrae
ICET AR,

EIG: HIVAIE qUIh §&AT a A b, a+b=b+a

(iiiy e TuEH

WA 3T ST

Q) @+3)+4 = 2+(3+4)
5+4 = 2+7
9 =9

@ (2+3)+5 = 2+(3+5)
1+5 = -2+8
6 = 6

(@@ (2+3)+(-5)
1+ (-5)

(-2)+[B3+(3)]
(-2)+(-2)

4 = 4
W) [(2)+B)]+(E5) = 2+[(3)+(9)]

~54(-5) = 2+(-8)

-10 = 10
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U1 edeh dB3H TS hl, Tedehel SIS ARG TR,
TUE IS W AeSd @ IUEEE qed .

( N
A | 1. @ @+5+4 = 2+(5+4)
@ @2+0)+4 = 2+(0+4)
qrEad AT UIGHT ITSH qO1 TEATE Hid i ¢
\Wﬁmﬁmaww. )

W0 HIvAE & qUIiREEAr a, b AT ¢, (a +b) + c=a + (b + ¢)

(v) oA T
TS IETE HIBsqaeh STHATET I U7 .
2 +0 =2
5 +0 =5
8§ +0 =
-10 + 0

TERT d@d JF @ e fefieaw fe @' W g,

HHA: HIUIE UEEET a, a+0 = 0 + a= a

2. IWMEYSR 3 I fear onfor QUi §@n @ [uEdi 9od Hd S
Tz
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(v) W g U
SR 3 A= ( Tiasfacame & S e ?
YIS 3G AT,
3+(3) =0
T+(7) =0
(-10)+10=0
TS YUIThERET=T SISl SNel 9 QUi JTal.

HHTIA: HIVATEt Uil 3 ‘a’ & (-a) a S a + (—a) = 0
AR quisi =@ U v
1.2.2 qUiishreal TUIARE  Tored

(i  wutae
WSS faume=n STemE U ST Jreft qui .

IELIE] fseny

9x8="72 ORI BT qUIRHEAT 317,
10x0=

—15x2=

—15x3=-45

11 x-8=

10 x10=

5x 3=

T oo e =it ward JrE S quies @ 7 w9 3R % i, A URR 7
QUTeRERET TEId ?
A9 . oEE a1 H, WA APIRE T RS TEHQ.

RUE Uil 3 HgEedr™ TUEd Yresdrd.

YOG: HIOAE QF YU a AT b T IURRR U,
a x b ¥ ggl il 4.
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() 5x4-=
(i) 3x6 =
2. THTEYEIO G UTShTE VMR Sl & A VMR qUIhe@aTE 318 S ?

I I A,
\\§ J

(i) wEEE T
TquITE Wit 3R <A, TUMTRNIG qUTTshT= Tedse 18T,

faum 1 faum 2 frreand
5% (=2) =-10; (-2)x5 =-10 5% (-2)=(-2)x5=-10
(3)x6 = 6x(3) =
20x%10= 10 x (—20) =

|HTIG: Ve G qUIEET a MM b, a x b =b x a
(i) wEwdd o

TS 2,-3, —4 o TUTHR TN,

[2x(3)] < (4)  =fr 2 x[(-3) x (-4)]

IV UTfeh 38 <,

[2x(B3)] x(-4) 3o 2 x[(-3)x (-4)]
= (-6) x (-4) =2x12

=24 =24

qfecd IEEWIG 2, -3 Tehrd Teldie AT god e -3, -4 THME el Hlad. W Qe
TUTRR. TRGT= 3R

R, [2 % (3)] < [(D] =2 < [(-3) x (-4)]
TG eI qUITehT=AT TUThIId <hlal URUIH Bidl 1 ? ATal, IRem gid gl
ITTEA 3TH GRTAT ASH hl, VTR T ORI Teldies ORI Hoed 3TEd.

FETIAT SHIVTE qUITREEAT a, b MM ¢, (a x b) x c =a x (b X ¢)
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drgan
1. Is [(=5) x2)]x3 = (=5) *x [(2 x 3)]?

2. Is [((2)x6]x4 = (-2)x[(6%x4)]?

4 N

HaETSt
(5x2)x3=5x(2x3)

7 U QUSRS 3T Wehd I ? ATST Te3] ShUATETS! STURE Whigl 3IaTetol

1.
- J

@iv) foamma 7o
FUTE WTE TR 1, 9 x (10 +2) = (9 x 10) + (9 x 2)
AT UIEHTEEA UTehRAT foawune uraH g QUi HEshRare STEdTd.
3 U 3R HME d WIS

®  2x(1+3) =[(2)x1]+[(2)*x3]

2 x4 = 2+ (-6)
-8 =8
i =1 x[3+(5)]=[1)*x3]+[(1) x(3)]
-1 x(=2) =-3 +(+5)
2 =2

T -3 x (—4+2) = [(-3) * (-4)] + [-3 x (2)]
TR Tedehaeh Uifgesd shi, el SIS & I SIS ST
TRV oA ferqRoTTeAT Ui Gieel SIS S e 3.

T VAR UIie a, b 3MMrc, ax(b+c)=axb+axc
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(v)  foawomer wored

el =2 [Oamaﬁm@m:ﬂﬁ.]
5x1 = -5

-3 x1 =

_8x1 =

1x-5 =
ﬁWWWW1@a@ﬁWWWWW@H

FWTIG: HIUETE QUi ‘a’, ax1=1xa=a

vi) I T
JIUITE HTEG 38 1, HIVCATEl quIeh I TUICTH VTR I Id. THE! THS el
S

(3)x0 = 0
0x(8 = ——
9x0) = —

FUAE iEM Y[R I PIER A A

T HIvTEt QUi a, a x 0=0xa =0

LS 11210 B

1. Eo® 3EEU quE

@) 18x[7+(3)]=[18 x7]+[18 x (-3)]

@ (2D *[(4) + (O] =[(-21) x (4] + [(-21) * (-6)]
2. (i) IUATE! QUi a 3T8S M (~1) x a ?

(i) 37TET qUIieh SMeT i SATET TOMRR (-1) HEd S TR,
3. TOYHTET ST HEA TUMHRR H.

) 26 x (—48) + (—48) x (-36) (i) 8 x53x(~125)
(i) 15 x (-25) x (—4) x (~10) (iv) (—41)x 102
(V) 625 X (=35) + (=625) x 65 i) 7x(50-2)
(vil) (~17) x (-29) (viil) (=57) x (~19) + 57
-
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1.2.3 s w&=q aSEEehe o
() TR WY
EaR N
9-7=
7-10 =
2-3=
-2-3 =
2-(5) =
0-4=
3o FIohs 7 AT 3T TEUL Ihdl S ? SSITETeRl AT AT [UEHI qTeA hedl SN

TRUA HIVTE UIish a M b, a — b ¥ gl Pl Jwar.

(i) IR GEEEYU™  IUIEH
ATHRAT TR IGTE T8, 6 31 -4 =1 fe=m wu
6-(4)=6+4 =10 and
—4-(6)=—4-6=-10
U, 6—(—4)%—4—(6)
a1 AT HEEEY™ UM SR ATE.

EREILICT
)| HEEET o w9 o aeehe 5 $Ee .
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g ek s ? quifeh T WA RMES ‘31 A1 Yeh YUY UTesd ATENd i ?

(i) WU T

JTUT SATOTAT <hT, WTTThNI qUIHEAT STHCATIhI TUIeH UTedd ATal. auTed  |Tal hi,
UIRHGT 3T TR d e Jeio aTel a6 S&rd ad. (-8) + (—4) # (—4) + (-8).
(-9) + 3 37M 3 + (~9) B THM A& HI?

(=30) + (6) AT (~6) + (-30) & TH A& FHI?

TEU[ ATIV T Iehdl hl, WFTTHNI HeAT TUIEH dTeed Sid ATal.

HIVATEt qUITeh a, a + 0 Fifea 1€t Wg a = 0@t 0+ a = 0.
(iv) VTERET e
SegT AUl U@ P e | HEA e ST degl HNeRR deerd .
7 R0 RG] 3T Wehd HF g QIR UTal.
THS 3grene e wu
(-8)+1=(=8) (1H)+=1=+11 13)+1=__ (-25)+1=
TS TR K0T YU & GFYUIehI 1 I §&AH WA WK da@rd dl.
1 & quiishrean HTTSRET e 3.

HWIG: HIEE QUiH a, a -+ 1=a.
SIS QI -1 F1 FEI WA FH B0 7

G qadl qo1 .

(-8)~(-)=8 Il=(-1)=-11 13=(D)=__ (25 +(C)=__

FTE STV I TEU[ kAl hl, HIVATE QONhE -1 4 WiTeA™E ar it firesa Al Wy
AR AT daere Idl.
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Cartea A
1. SR a g Uil 3D @,
i a+1=1?
() a=+(-1)=-a?
a2 @l fafoy gl TR e g quTEl. y
(i) @ERR o

SR [(-16) ~41] + (-2) = (-16) + [4 =~ (-2)]?
[(-16) + 4]+ (-2) = (-4) + (-2) =2
(-16) = [4+ (D))= (-16) = (-2) =8

B [(-16) = 4] = (-2) # (-16) + [4+ (-2)]

qUETETST
IR I qUTTeh BT 9 ITH UTaT Sl  qUTieh HeedTel TUIeH dTedTd ohid ¢
W 6
TR ST qul
i) 25+ . = 25
i R +1 = 49
(i) 50 =0 e
() 0+1 = .

1.3 d MR ST U R0 QUIisTT G AT AR,

EAUBE TehT GTell e AT IAETST +5 TN, FehieA IaUEet -2 Ul foe ofTEd.
(1) Tferep T g Fiefass 3mfr 30 o7 firesfas wnd gar el 3 SR Bt
(i) SETE Td T Aiefae wig faat -12 o1 festes. o = g I siie

IHS () TH A ITEE SIS 0T =5
TEUH gl I ITETe e T =5 x 10 = 50
Tferepr TR 0 =30
Fehe I BT U1 =30-50=-20
TohT e TG FAS 1T =(-2)
TR ehAT I HEA =(-20)+(-2) = 10
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(ii) TR A ITEE IO IO =5x4=20
ST TR 00 =-12
e ITER HBoa Thor 1 =12 -20=-32
TohT JH=AT ITUEIES TS T =(-2)
TR FehAT I TR HE&A =(-32)+(-2)=16

IR 2 T GHMIGRE Ueh U faeheamer T 1 71 firesdl d Teh Ui faeheamer 40 d&arer
Bl WA e HiedT.

(i) e AT ThT gMERE T 5 dIeT T, 1 Hig=ATd o 45 U forehean
. W IH I FleEda frdl u=fieht ~
forepea 7

. ..'.-'-7-""' C'm:lzzm
(ii) ge=n wig=rd fo A% fiesfaet A&, dwerw
AT Al ST fad 70 9 feepean tEdie ®
fom fordt o=t T stadis ?

I6S (i) w1 YHYT e TR 1
45 U1 Toehearer frasum 9% = T 45,7 3190 45 3 <rged.
a1 TR qre =3 5,0 39Ul -5 | grEadl.
HSTST TH + FSST qlRl = THO drel
TRV ASA dlel = TRV A1l - TS A%

=_5—(45) = (-50) = - ¥ 50 =— 5000 ¥
1 Ui foshia et dier = 40 98 7 3w -40 @ fofzar.
TRUE TRV fashesed UfFet = (—5000) + (—40) = 125 uf=rct
(ii) g&=a wfe=ad A1 T AT R
R HBeer TE + e el =0

U ATSST TH = - MBS qle

Ad1 70 99 fosheadt sdet w1 =T 70

RE UfEe fagd goet dler = 70 TRat —7000 9.

TRUE THU fashoean afat = (=7000) + (—40) = 175 uf=St
weEs 7

1.7 e 15 v RS omRd. Yo% Set STEE! 4 01 G b SeEE! ~2 1o
M. (1) IR T I FrSfae haed 9 TeAT=e I SR Bidl. at faot ferdt o1 e
. (i) foeht weh B0 3 %k S T Ao ST O Hel SeR i, @ foet wepe fokdt

T ITeA ST TR
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2. T e Huien qied e fasge teh diemm 39 SRl ST T argny e diemea

fashrmmt 5 drer g

@) U fasht 7000 O gret fme @ 6000 urd @rerer e vadt Sl @ A% 9
qreT Hral.

(i) AT AHT AT LT M Aearer 5400 Ui wrewer e faehs @ uel e fohdt
fopd erorcfies ?

3. W 12 ST aEE 10° E. 0° <A1 SR 3. SR ArEl | ardEE 2° | HeRnEiad el
BMd T W 8° ATHM BTt Rl 9 BRI 7 00 U HHi R HEREE qrHH fehdt
ITHS ?

4, Tl TR T ITRETS +3 701 T Fohl=aT ITATST =2 T[0T QU 3715 B, q I
T Arefoea ¥ U1 U 3T M. (i) TTHeh™ 31 =T=ofid Tehvr 20 T[0T fiesfares wmieh!
foreht SR 12 ST TR 3rEcfies at fom wepwr fonelt wro wyshieh aveferedt srardtes 7 (i) wifeia
T == qled -5 o Wesfae qenfy fo=h |a T ste gt @ o R Rt T
Hrefas ?

5. Tk I3 gfdfufie 6 Hier I Afedid Iad. St 10 Hied 39 9 38 T -350 Hieler
TERRES! fhdl 92 IMs?

=4
/| areATanI B ol

1. N (dffs g@m)=1,2,3,4,5...
W ([ g&m) =0,1,2,3,4,5. ..
Z (it g = ..., —4,-3,-2,-1,0,1,2,3,4 ...
3T 0, +1, +2, +3 (YUriehran €= 1 gREq Iehal..)
2. (i) Y dB T G IUlieh Hesfoas T H&AT W I ehe dTed.
(i) TeIh Jet S HV qUrieh el X EEn W eiefishe dred.
3. (i) T deBt S g9 qUlieh ol shodl TR HEAT (T STETehe dTed.

(i) T ISt S KO YU I hdl W TEAT T I he dTEd.
4. (i) Y 9l SO QU F1 99 qUIhTRT fohaT 9 qUIeh &1 KU1 qUTIehIRA
TOTST R T[UMRR K0T Al
(ii) S 0T qUIfeh T UTRR € qUTTeh Jal.
(iii) =RUTqUTieh HEAAT AHASBT 3BT UK FYUTh Idl. TX fowH JBT HAB
TUTTeRR U 3.

- J
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(1) T BT TFEl SRIVCATE! K0T JUTIhrel WWWWW%WW\
.

(2) VU AB! Tl HIVATE! 87 UThT 0T IUIiehel WITEATE JUR IR ¢ & Joriehra
3.

(3) T foRwdi=aT SIVTATE! M qUlihraT AR foha TUMHR e AR IR ¢ &9
A, qIMY I STHED /O EEST 2.

6. Q@ IETERVET ST I,

(1) ISR T T ST TS, X + @ ATV xget © qUTTeh 3TTed. SATd ST & & RIvTde!

(2) K51 T TRV UFRAT TR, TSR + o = o + 3, T ATV @ G4 JUITHTETAI,

(3) SRIST HESATCHSE TlHAT 3. T (R+d) + @ =3 + (4 + @), 3, o MM & a9

TUIRTETSI.

(4) IUTeR 7 BT ATHRE Heh ATE. FEUSHE X + 0 = 0 + X = X, T BT HIVATE! JUTTh AL,
7. TUITRRIE Ui SREE 96w quffadd.

(1) 9UIfeh T &g §dcd 3ATed. FeUSH, X g @ hIv[cATel GIF JUTfeh ST8 < SAT(OT .

(2) qUTeRTET VTSR &1 ShHIRUE STal. FeUSid, X g @ = @ g < hIVICATE! qUITaTS! ST

wn

z Ao =,

(3) 1 BT VTR SATIFRE Teh FGF HIVATE! JUIHRTETS , 1 g = T 1 = 3, T HIUCTR!
Tt

(4) TOTIeRT=T VMR HEEATCHS 38T, TEUSE (W) § @ = X g (ge) HIVde! i qorieh
S T, W, AT @,

8. TUTTSRTA SRT=AT TaRuTT=! IV FEUSIA R § (A+®) = X gl + X g @ RIVICATE! oie UTTeRTETST
S R, @ AT @, AT (AR [ureH Feurard.

9. YUIeRT=AT IUATh=AT HEHSETT SIS, VTR 9 ARRR AT Tl AS(ETehl=a] agaaerd
IO SFRATT S = AT .

10.  SHIUTCATE! YUTfeRTaTal a, SITIOT
(1) a~ 0 =1 TR a arel fFar 9 sefem srad.
(2) 0+a=0 (a'0 i

(3)a+l=a
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3[quiid, G9I9l 3AYUIiD
3ol AT J=0

2.0 IV :

I ST SaTd 37ef 31k 3aTet0l 3TTed. T SAu7 STqUiiehr= JToR shidl. T
ST T hil. AN Fcdd U DET(eeh TN STAMMh YU M =it sl 9
goTeTehl HIM O (SRiETE) 7 Rrehsl stav goff s sl A= sEd@ehd wE. S A@
TR AT a3 ST e

TR hI?
7
TFA 1 aquﬁ 3
sin s;n

I ST R Sl AR & BET Sd1d BRIG hl T b= W qHE
3Rd. fohar a1d). e ArE 9= ITEW R HU. I AT ST auEuIEd! =@

2R ¥ AT s st Tt .

%ﬁwﬁwwﬁwﬁ@%aﬁaaﬁwqmw? o8] BTk TN
HITH ShIvIal YU Grafdoa! 3T17.
26 I gradt ;T
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|qUETaT3t
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dqfesd i emnfre srquils
=T Berferk Snf sfunfues srquiihTiaerf Rkt meTa Serfess srquries &1 dqul
AN Ueh 9T guifadl. Saifdeh STYUIiehre UTe 3gTawl .

> i st et s
AR STYUITHITRN JFeTel STURE 1 Hifgd! 3178 7

STIUT 3T TV WTehdll shl T STMILeh STYUTeh JuTiehgerd STYUIehIq fosg TTehell. %Ww

STehal.
léaaﬁn?wmm@mmﬁﬁ.aw%mm%mmﬁmm
I 310 TohT AYUITIFA W IS AR SYUhIFd WA 0T Selicsh SFTEel g,
|aTETSt

YUt g&1 (SEEHRISI)

THSE AYUIThT AT 3T HLATd g TraTesl TSdd i ?
1 3 3 1
3a:- gaTlﬁTg? g%gﬁmﬁ%?ﬂﬁﬂﬁm?

gH =T STquiiehrl qoT el Hdrd 7 3TEdad I ?
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ST 7. -

() TWL1=80" ®W L2=

() T L3=45 W  L7=

(i) TL2=90" ®W /8=

() TL4=100"T /8=
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3. X, y 3TIfoT z = 919 s, 3% / || BC.

4. ABCD &1 9973 <A 31", AB || DC 31fet AD || BC. £ b, £ cd £ d .

D C
d C
50° b
A B

5. WHo AHdmed 1’ M ‘m’ = ‘n’ & BfEH AR W 10 T ‘m’ AR MR I ?
n
P
100; .,
ko
R S
m
3 D
i

6. WIHS hAHS La, /b, Lc, /d M0 Le W4T, HROMEG T

T A
C g0

50° c e
a b d 509

Ae: e feen s 2 A i g

—~ UISAIdnl B ol
() % St T 3w 900 e W, @ FEE .
(i)  HIEHH AL TS B SELHH THAT ?

2. () SR gF A AU SO 1800 TES @, AT WETR HIdhH
TRUTATd.

(i) T BHTA TEAS Tceh i G, hICeh fohdl TR JTEI.

(i) 2 HIEHH TR Teh ITHAT.

- J
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€ 3. UM YA 9 U SEEgeA Qg SIodl SU-AT ST 7 HiF T8 )
FRUTT.

4. YT AN AT HIRATE S HeU TESGT 3™ ATEl.

5. S %M GoT 3ad d WER T 3ed M1 W SIS i FgUrdTd.

6.(1) T T TTEHAT TehT Beferg Hed Bedrd dogl, Wei=al &g i 318 Furdrd.

(i) foeg =F THE T AT,

7.() TF WA 5= foga Seun-an Wa S rguar.

(ii) DfEhS THUT S HH TAR BT

3.5, SHIFTET JhR I EAE]
SR
1. | A ®A — £3, /4, £5, £6
2. | SwEH — 21,22, /7, /8
3. | foeg = 4 Sem| (L1, £3) (L4, £2); (L5, £7) 5 (£8, £6)
4. | wa wHA 4 e (L1, £5) (L2, £6); (L4, £8) 5 (L5, £7)
5. | SITgRY ®H 2 Se| (L3, £5); (L4, £6)
6. | =TE geku wHE 2 Sen|  (£1, £7);(£2, £8)
7. | sfchen wrE
SN[ AT 2 SE| (3, £6); (L4, £5)
8. OF HHI W BfeehT Ded deaT
(i) T ST SIS T AT 3T,

(ii) STTAEIRA HIATE SISl TUH HATAT= 7.
(iii) STET ShH AT S T AT 3T
(iv) BfEh=an ThE FT@T SFE-AT SAHRBHTAT SIS HH b STHA.

\\ J
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Brolu a Brolumrd spuier

5.0 TEATEAT

e gacdd qral Bepmmeedl ATéd fHefad! aTR. Wdies stehdr= e .
o7 YhT RIoTdt STrhedt Brepiom=h o1,

AN VEN'SIAN

M (i) (1) (v)
TR SThcAT BIeplvT=an 3Ted 3™ 1 ¢ A1 fawlt qr=n fiemeh == .

eI 9 aT9 SR, ;
Mhdt APQR, T,

() @\ s PQ,QR,RP

() @ FF LPQR, ZQRP, /RPQ

@) g PQR
fag P #uille 9T QR oA Q 9 Relig WHII® S5 | IhI I 7

S 1, ZQPR= F& a1 QR e LPQR #Hl® TS hivrd! ?
" 4 N\

wUaTErst

\ | ST wRuTeETeRE iH fag=an WM BT el Adl. AU HEHd IR I
JThell hIGH MU T AT

(= foha o Yan Sea foig T/ 90 o1EdIe @ T T v feig reuam. )

- J
Note: LM =1 = @1 LM ; M =@ LM
M = 1 LM ; iM=®LM

e e gt PR |
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51 Brepvm R

Freptvm=an TuiemiaEd  (I19]) JeEA BT fiF SRR gea.

o TR ST THE SO GRSt SHyS BT o wEurdr.

¢ T IS, THE U= Beprnet sHgdys Gehin o v,

o SIS BTet STHWH U= Brenne fawmys BT 318 reurdTa.
Freptomr= TUIEHTgEd () AraEd Brepme fF YRR gedTd.

o TEE B 90° YT BEH STHUTAT PRI S BHehivT 3@ Tgurard.

o UHT Toh B 90° TS AT HIChA BRIV 318 FUrard.

o TR T HHE 90° Y& I IS T [aoen Bieplvl 318 Fgurar.
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6cm

H S 5cm T Q 6 cm R

G 52 cm
(2) AABC = 4@ ueeh fogr. (dfH a9, o &)
(3) APQRA= foig Q THRI® o1 WIvK 7.
(4) ALMN we 919 [ SRS i hivT 7.
(5) ARST #e&dl S5 R H9RI® fog Siomm 7.

SR ST Brepivm=an 915 9 S fOER et | e
GIHS Jehel Fehivr fiey wrhard

[EEDMIEREAT A B FHGTAYS FehiT IELEECIRECIL

LA [ 2

RN
=

|UETETST

1. fafae wprer Breprom=r e Sed e femdied == .

2. T g 318 I, BRRIUIG Hleh 7 THNa S g Wehd ATal.
RIRCRIC NI e ik i A

3. DY FRRIOTG T BEehA 3TH IehdTd A1 (TGN ST90 HgHd T8 i ?

EalN
. J

90 3T gradt : e
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52 Preturen adte @edey
52.1 B g9 SN 9w

WA JH AABC, APQR 31fot AXYZ et
P

A \ /z
C R X Y

B C Q
AISIET=AT HIRIH A el
AR A& A =31 9 HERCISCIICHE 3 Ted 3R ? RIEIG
AABC AB = ABTBC = AB + BC >CA
BC = BCtCA = BC * CA ~AB
CA= CATAB = CA T AB”BC
APQR = PQ QR = PQ + QR >Rp
QR = QR *+Rp = QR *+ Rp >PQ
RP = RP FPQ= RP + PQ>QR
AXYZ XY= XY Y7 = XY+ Y7 57X
YZ = YZTZX = YZ *ZX 7XY
7X ZX XY = ZX T XY ~YZ

qTEA 38 BT Ad I, Behom=n HorTE = STt 'S
TrE=an a1 vE S 3.

EARUIER AABCH=, AB+BC>CA
BC+CA>AB
CA+AB>BC
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52.2 fBeiumea @9 SN @iEdie B

s TS R S ST A e
A< @ | aEh e 2 IS Fh 3 T ITR7 RIEIG
AABC | AB= BC-CA = BC-AB <AC
BC = CA-AB= CA—AB<BC
CA= AB-BC= AB-BC<CA
APQR | PQ= QR-RP= QR - RP <PQ
QR = RP-PQ = RP - PQ <QR
RP= PQ-QR = PQ - QR <RP
AXYZ | XY= YZ-7X= YZ-7ZX <XY
YZ= ZX-XY = ZX-XY<YZ
ZX= XY-YZ= XY -YZ<ZX
ATEA ST BT Ad hl, AT HIVTE GH AT BTdls Bleh
foe=n =19 v S ST .
3gretond AABC H&, AB-BC<CA ; BC-AB<CA
BC-CA<AB; CA-BC<AB
CA-AB<BC; AB-CA<BC

HEES!
TRl BrhromeT g SToE oieft 6 @, 9 Tt ueA
ot a9 HTevar= T .

3.l o= fmdt a9 oFRe 6 &S |, 8 Tt odie w1 7
Jcdl SESIECISE AB =6cm
BC =5cm
CA =8cm
HERCISCICHE AB+BC=6+5=11>8

BC+CA=5+8=13>6
CA+AB =8+6=14>5

TR FIeI0T Ul S I8 HRU IV GF S SN @l
foE=n STSuET ST IS,

e wo gt |
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1. Wﬁﬁwmﬁwmm?
() 39, 4 9, S5 A (i) 69, 6 T, 6 Tt
(i) 4 @, 4 o, § A, (iv) 3@, S @, 7 o

53 v fres
YU AT eqfed T aed S=i A wreer=n ot fafay fewmft .
Ao el STehcar=l 3= @l His, Iehal & 7

-

el IR T gSTd =1 WET I TEUH WIS Yhdl. A9 STHMET JER Grepvmet 3= gea
HIST Ad.

A
aropea Brepommed fig A urgd @ g BC 9. /\
T foram = fafe T g S Seft grafomd T w7, [l

B 5 C

AABC i f& fig A wigg BC o erhobesl el 814,
d= AD 3TR. I ThR ¥ BRI shiadl Adrd.

~

(wramaTet
() PUET QR R RRIcE Sier = Il foched STeheam@nel gF o Ries et

P P P
[ENICEICIRPEIL EareacREEaw] A e

(i) TSe g1 Bepvm=n ma 3Es &1 ?
(i) Frepvmrean g RricerEan s s )
AGMAT TEHRA A% IR 2019-20 o 3 B Tored 93
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54  Brepiom=h qem
A

AABC = ST IR 1. 7@ 37eft udt wrest s, fig B o feig
C T 19T 3. MhdId | Hed CRefean JHml. o o /\
BEUNI foig D g =l HERT 371, BC {91 3R HeWwl fog 37 B C

HIET h! = Toh 2ieh W AC T 318, (3TMhd 2 UTET.)

A A
|
/\E\ /\
BA——L——>C " g ©

JETHER A 9 C fogm ot g™ 7 Ac Sedio d e fog =i Hemm D 379, 3111 I AC
HTET & T W AT AC A9 ol 51 fohmoft 3 foig Seara i shgeh 318 T8urdrd. I AC
T fog E&1 W AC =1 HEHT TR,

T AB &R C Tognyy U 11 fig G Wy feig F 318 et 3 511 11 AB =it WeanT 318, 311 bR
W AD, W1 BE 311f01 W1 CF =1 gl W1 foig G 7edl wead sgdm.

G G B HeAfog TN 2al A1 Hedfeigea faeg S5 3t i N
TN BIAId I e foeg 9 F8urdrd. Centroid
E
Tt o fie 6, fF T Sreat vk fga weEehiT Sgard
TR TAR U1 HeAfSgH <hgeh FEUIATA. B > C

YRR weAfeg Bigehd 0l o wERlaEg AT Bepivmer qey 3§ TRudr. ST A
FHFTAT HEATIGHT hgsh ITE FEUTAT.

W - 2
1. AABC,D® BC. ¥ H&I 3. ‘;‘*
(i) Ap @ TR i
(i) A & TR ]i:—|

Ial
\

B

w)

e wo et |
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e

5.5
5.5.1

FHfl 1

5.

el 2

BT g SR STHUT= §F RRIGE Hivrd. ?
e R AT 3G T ?

e frepm=n srdumTd 3ES w1 7

() AXYZ wed fog Y @il oo fosat.

(i) APQR W&l 19 pQ WHHI® A fosal.

(i) AABC A& 99 AC FHNI® %A foar

v Turad

Prpiome awR e

GIHS =R Halqd AT [UEHieTR HATfeh JUE o 2.

M@ HETErR et ABC whre.

i U=t = | T B graan

S argaH Gt & s ¢
W XY igd &me '0' w

& P AN

X o} Y
AT S HEV R grefaeammm 'O w1 foger e
& o - o >

X Y

0
I IEA I ST Ad <hl, Crepiom=an fod) o= A oS 180° 31Ed

FHITEE HE0 BT ABC 719 =M. I Tt 9o A Ay RIS Hel.
T dE A, B, C fogeh ot o) ot 1, sTehdia qrafaesn Jam M &1 $9% et

TR

B

M C B i M C M .

! UTETS dFEl A, B @ C Tehiond Uid §¥e {1 S0 e i
ZA+ ZB+ ZC =180°.
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Fdl 3
HiveTE! @9 gfd ABC Bepiom=an =21, <R 1,2,3 whivl o9a.

?ﬁ?ﬁﬁﬁwm@aw

Ve

T O faglawft 21+ £2 + £3 w0 fiehd g Wb 7
TN Jaordie fad sHman #urt sfe 180° 319d.

Fdl 4
SIS GEIH AABC, APQR 9 AXYZ el

[EEAUIEEEIC] T < AT & o S
AABC ZA=y /B=...., Z/C=..., ZA+/B+/C=
APQR /P=; Q=) /R=., | LP+2Q+ /R=
AXYZ IX =iy LY =iy LT =, X+ LY+ L7 =

HIvcATE HTaTe Brepivmen o el 9t 180° 3rEd
AT TR THSIE ITES hl, HIhIvdie dHal il Sts & 1800 31&d

Prertume S uemih faegan

i BrepIoT=AT Mgl RIvmeAT HTAT SiS 180° 3THd.
et Frepor ABC

faegar ZA+/B+ ZC =180°

LCE I W@ pQ &9 BC #M@

forgar - JMheTd GRATTCATSIHTO!

e wo et |
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22 = /5 (TS )
/3 = /4 (FHEARS )
L2+/3 = L5+ /4 (1 a2 <t 989 *&7)
L1+ 22+23 = Z1+/45+ /4 (32 So@med /1 fies)
Zl+/5+24 = 180° (frretiEidies o )

R, Z1+/22+ /3 =180°

LA+ ZB+ ZC=180°.

Brepivm=ar 8T iR "Il 9he 180° 3.

IR 1: AABC U=, LA =30°, ZB=45°, 3nen £C.
IS AABC 78, /A + /B+ /C = 180° (PrepivTr=a Stsr Ture)
300+ 450+ £C =180°  (fesean fhueht 3em)
75+ ZC =180°
ZC =180°—75°
TR, £ZC =105°
IO 2 ¢ AABC H=, SR LA=3 /Bd ZC =2 /B. AABC = @l &I 30,
3B ZA+ /B+ £C = 180° [ForehTom=an sRar= TuTed|
3/B+4B+2/B = 180° [ZA=3/B, £C=2/B]
6 4B = 180°
TR, ZB = 30°
TSI, ZA = 3 /B =3x30°=90°
ZC = 2/B =2x30°=60° >
ICEO 3: AABCH=I C HIhH 3. MM CDLAB, LA = 55°
e () ZACD (i) ZBCD  (iii) ZABC
IS AACD T, AL Nc
ZCAD+ ZADC + ZACD = 180° (Frehium=an sitsr=n Ture)
55°+90° + ZACD = 180° (fedeen fehwet 3a)
ASAT TERA A6 a0 2019-20 el 7 B o 97
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145°+ ZACD 180°

ZACD 180° — 145° = 35°

R, ZACD 350
(i)  AABC #%3,

ZACB

90°

®/id, ZACD + ZBCD 90° (HThdIFER LACB= ZACD + /BCD)

35°+ ZBCD

90° ( (i) 9, ZACD = 35°)
ZBCD =90° —35° = 55°
iy AABCTed,
ZABC+ /BCA+ ZCAB =180° (Feplvm=an siei=n ures)
ZABC +90° + 55° = 180° (ES)
ZABC + 145° = 180°

ZABC = 180° — 145°

TR, ZABC =35°

I 4 Trehrome vmIOr 2 ;3 ;4. R Fehior s

IHS frepivmer feobas T =2:3:4
SO S =2+3+4=9

Breplvm=ar od S 909 = 180°

2
R afeST HH = g 180°=40°
3
gHU B = 5 180°=60°
4
foaa = = —x180°=80°

9
U BreploT=R 7T 40°, 60° T 80° 3TR.

e wo et |
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IS 5 fodbean sArpda = foREa s A
IHS ZECD = Z/ABC =73
(. AB || a9 CD % #Taeh 311a)

AECD ue3,

ZCED+ ZEDC + ZDCE = 180°

(FrepruTr=an ser ToTed)
X0+ 400+ 73 = 180° (fecean TSt 3a) N
x°+ 1130 = 180°
x° = 180°—113°
x° = 67°
IR 6: AABC <A1 Ul ShIATE AT 40° 3R M7 34T S i Tehed . a¥ o= Ay
<hlal.
IHS  : ol £C=40° 3T LA = /B =x°
ZA+/B+2/C = 180° (Preprom=an Sere TuTend)
X0+ 400 = 1800 (feorean fepmt 3a)
2x° +40° = 180°
2x = 180°—40°
2x = 140°
x° = 70°
JAIMIHR T 70° =M 3R,

3RV 7: 3l AABC =1 99 ABE AC o D E % foig 3/ a9 DE || BC.
T /B=30°a LA =40°, @ (i) x (ii)y (iii) z =1 fopmet sMem.

IS i)  ZADE=

ZABC (eeigdi® %9 DE || BC)

C
U, x° =30 S5
(i) AABCTH,

LA+ 2B+ ZC

40° X 30°

1800 (Brpe Ay o)

40°+30°+y° = 180°  (facsean feopmelt Som)
70°+)° = 180°

T8, )° = 180°—-70° =110°
AT GHFRA AIhd Rraxor 2019-20 friwr 3 B Tured 99

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

(i) A ADE 7T,
ZD+ZA+ZE = 1800  (Brepiomrean stsie urm)
300+40°+20 = 180°
700 +z = 180°

z° = 180°—-70°
z2 = 110°
e - 3

2.
A on
%
30° X
B _E L.
¢ v X
(iv) (Vi)
3. T AT foRAdl feean stga faa=n siaran foradt et
(1) 38°,102° (i1) 116°, 30° (1i1) 40°, 80°

4, SHIeehH AT TehT BEehHTEl fohad 300 3MTed. o= BYhHT fhud el

100 R e
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10.
I1.

12.

13.

TS faum e 1 fhan /@ T st
1) TehT IRV SF hIeehld STEdTd.

2) TehT PRI GF SEhH TEdTd.

3) U Bt aF foRe @ sTEar.
4)  TreIvTde e S 60° Ua St STEdl.

Tkl Benlvndies s JHOT 1:2:3. 3Red 9 oar=an fhadt
T ?

AT, DEIIBC, ZA=30° 9 4B =50° x,yd z =4
TeRwelt smrem

3k, ZABD =3 /DAB@ /BDC = 96°. snen ZABD.
B

96

A . C
APQRA®Y /P=2 /Qd2 /R=3 £Q , APQR &A= ST .
S UHT PRIV M THIOT 1:4:5. 3TRd o o= fehudt s ?
TR TIehIVIIics ST JHTOT 2:3. 3R at e fohadt smem ?

Thefid, APQR, Q &1 e 3 L || RQ 3for P

ZLMR = 130°. snem ZLPM, /PML 31fot /PRQ.

130°
3Tehetd ABCDE, sien £1 + £2+ /3 + L4+ /5.
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5.5.2 Tum sEeeE A

TR 1 e GRS 919 BC 3T8aaT AABC &l C

71 faget LACD Fmiv s 3mg, Ml wu. AABC =
ZACD %1 STeishH 3.
B D

39 ABCA 9 ZACD ® ST ®H 34, /BAC fhat ZA i 1 c

ZCBA fal /B IM1 37qd &H RUAM. a® Thdiis
fa&g ®F ZACD & 9 ®F /A 9 /B SHIEER Sl
SATHAT 5. 2 UTET. HIYSS aral i ACD &1 T 718 H17 3

qqrET.

HISTAT GF AT 7Y § LACD SR 38 1 ¢ g qurE
ATaE el 3TH TEU YRS o h1 ¢ LACD = /A + £B?

B & D
pl 2
TS FlaE IV & TG Iehdl i, STEIHH SN AT AT QETel Sl & FHH 3.

HqETETSY

freRior ABC = s@gsiH ZACD el 3T ZACD, ZACE, /B HiS.

ZA + /B It silis %4 LACD 3 g1 4.

3ot e & 6, ZACD = ZA + /B TdqT 3TEal.
eI 81 Taid STHSIT 2 hiFT U 3T,

fagm - FTRIhHTE HIY A=A 3Tdd TS o fobg HhiHuae 3.
LE: | . AABCET ZACD 7 STeI&H 3.

AT . fig C w93 CE || BA #me.

fagar : Z1=/x (BA|| CE @ AC Wi 3T2.)

/2=/y (BA| CE and BD
M Aiidies aura 1m8.)
L1+ 22=Ux+ 2Ly

®UH, LACD= /1 + /2 (3Mehdle®dd Lx + Ly = ZACD)
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TV, STEIhHTe WY =T 3TTd STHGEAT G fo%g shiHT=al WIUae 3T8d IS el AT
ToTeY TEUTAT.

|qUaErst
STRIHH TGS & AU HreT T A,

} ¢ R Q

3T 8 : ITRdTd x AT y =AT FohAe BT
Sl : LZACD=ZABC+ £ZBAC
( ST TUTeH)

D
135° = 65°+x°
135°—65° = x°
TR, x° = 70°
ZABC+ ZBAC+ /BCA = 180°  ( Bepivm=an sioie ores)
65°+70°+y° = 180°
135°+y° = 180°
y° = 180°—135°
eI, Yy = 45
31 9 : BIhIv=T T ST i 120° A1 ST A %G HHTE FH 1:5 38 A
T T AY <h1eT ?
I : LACD=  120° (4%) 120°
B c\ D
ZACD = LA+ /B (Beplumen sTerehHr ure)
ZA+/ZB = 120°
103
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/B:/A = 1:5
1
B o= o x1200=20°
5
ZA = 2 x1200=100°
ZA+/B+/C = 180° (Freprom=an Sere TuTend)

100° +20°+ £C

180°
U, ZC=180°—-120° = 60°

ISR 10 :  STS=AT ATl el
(i) ZPRS (ii) ZPTS (iii) ZSTR (iv) ZPRQ

Il : (i) APQR, /PRS b 31 307 <
ZRQPd QPR 3iiq faeg & 2.
. ZPRS = ZRQP+ ZQPR (CIREIIERIULL))
ZPRS = 50° + 35° = 85°
(i)  ARST, ZPTS STl 38 311 /SRT T LRST i foreg A 3R,

U, ZPTS = ZSRT+ ZRST
ZPTS = 85°+45° (ZSRT = ZPRS = 85°)
ZPTS = 130°

(i) 3Rt A RST #ed,
ZSTR + ZRST + /SRT = 180° (PrepToT=a SIS ToTe)

ZSTR +45° + 85° = 180°
ZSTR + 130° = 180°
TEUH, /STR =180°—130°=50°
(ivy  ZPRQ+ /PRS = 180° (= =i TuTe)

ZPRQ +85° = 180°
ZPRQ = 180° — 85°
ZPRQ = 95°
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IQE 11 : AABC 360° 3187 HH sl 719 gl
Ieal 2+ /4 =180° (tfrr SEh)
23+ £5 =180° (fiT i)
Z6+ £1 = 180° (¢ STeEh) X
3 e firs - ’
L2+ 24+ 23+ 45+ 26+ 21 = 180°+ 180° + 180°
(LA+ L5+ £6)+ (L1 + 22+ £3) = 540°
JMIUITE WIfEd T8 I L4+ L5+ 26 = 180° (ST TUIEH)
TUE,  180°+ L1+ 2+ /3 = 540°
L1+ 22+ £3 = 5400 —180°
L1+ 22+ 23 = 360°
TU[ §Tel AT " 360°.
IRV 12 : Gl AThdId i x , y I
0]
D
IFA (i) /BAC + ZABC = ZACD (STl &A™ Tured)
x° + 500 = 120°
Xx° = 120°—50° =70°
Z/ACB+ ZACD = 180° (Wfiw )
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JeIeh I8 dqesTd GrEaTd! BITd. AU W 3R

Fqe5 shgehT=l A9 360° 3THA. T FTHIH 9000 & T8, Tcdeh W=l a1e o1 TP fcsehel ot Sfaased
3.

Tk A ICEliciRGR]
TR THeseha

TR BT TS HUTTEA Tl SHITAT. dl gh-IT THTeR RATIAT TR,

Il @ -
1. STTE B ade A hgret 0 A9 .
2. IgBR A Toig T OA el
3. I STHEE! a9 Y & el = 60° LAOB = 60° Frel.
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4. foeomerd s = 30° ZBOC = 30° shel.

5. 3 = 90° =M N H&l. ZCOD = 90°

6. A LDOA = [gq° S=Idl HISl hiel.

CEL T w. G Tkl &Tthes
S 1500 %:% é><360° =60°
Fargror 750 970—50(1)=$ éx360° =30°
ER) 2250 % =i %x 360° =90°
CER| 4500 % =% %x360° =180°

EL] 1941 | 1951 1961 | 1971 1981 1991 | 2001
ez 320 | 360 440 550 680 850 | 1000
(1))

;- YA SHOET 1991 9 2001
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2. G Aifadiaed ageiod hiel.
EEET JhR e ey IS Tareor EER]

CRIEIRCE LR 3750 1875 1875 1200 7500

3. SiSH¥ed HEl.
fafqg Tsardfies 1999 = S0 gog= ST SRifae oTTR.

TS _ AT Fe_(¥fd_1000) TG (fd_1000)
SR 22 8
FHATCh 22 8
[SULC:EIEY 19 8
HB 18 6
HERTS 21 8
anfEn 24 11

Source : The table is taken from vittal statistics SRS 1999.

4, Gelid ATfgdiaed el whial.

TThaEl feaayudia T
Erch] E k| BT TS ELN
ErRCE] 8 amE 6 aTE 2 dm™ 8 arE

5. SIS Jeaehdl e Teilea TR, ST i
A iy AT, AT I I,

()  FHId HH T HIEE Bl ?

(i) S S @9 hIMeR Bl ?

mswings @ Education ERent D Food

(i) R THT "TEH fewd €. 9000 WS
re foet ?
(iv) SR =R 3000 ¥. @€ qd G W Gerrel eqonandt fhdt @< gl
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AT TEdT < fohioft (aTe /ammed/me) A= At Mest U <
HIVET ThRE FHied TadTd.

I FgdTe T JeaTd@rat Gradl.
3) fofay R dEiE WWIOE 9 goed el
(SMesl AT, Feaas, ST

2 | areAIaBI B ol

HeY HeAToh, HEAWH g1 U1 odTear fehar |mufi=n shiedn Ad.
T HeT THE 3. e ATHIhT SeiAT §d STHIRM JUT=
TTRIIRA ORI JHIUMG 379,

. TS Haldieh TRaNd STHGCA TEI@T HedTsh Fgurdnd.
FHefiept HeAh Tl

. TR BT ITHTShIAT HEdeR STHdT, Sioal dl Jacd el shHT foaiassTal.

JeadTE 1 Iqesredl SR Al dl HHATd AHHTST Sl

_ J

/f

gl. W3R, 9 (9Rd)
3.9. 1920 q&ff

IR TIfUrd TS 1945 |t et fehadandt

(et =1 sfeenem) wftng sTmRa.
SHIL T 30T ThsR Ta IT=a1 Tt i hes.

N
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Brolumdl e Hadan

8.0 TEATIAT

SR SATI] Teh EYATE! ATUAT TE Eqes! SA07 ot TehTek Teh 7T ST
T <l quiaol TehHeRTEl Je3ATd. § 378 1 USd ATIUTE HIgd 38 ¢
AT 3FUT 3T SRR THH TS ¢ TSd. T TR I
TEAT IETE] a0 S SATHR T 3TE.

IETEA ST SAHE AT U T HR qdldd SR TS, mm@nwﬂﬁwm
IgreTTrE fo=m .

STSgT SATIU THH STU1 ST IR ST TET St Siedl degl TIu1 Fgurdl shi o1 9%
THEY 3TTed. A0 THEUdE! TTeAieqh HaR! &l Th g ga= THER odo W 1 THHhIR
IHIT FEA IEANS & TIO B

el :
10 E9ATAT | T THEY 3 S ? Jral hdl qIErs 7

&

mewmmmmmmwmmw.
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FUETETSt |
1. Y HTEN R fhes AEd. TehT 3Tedia febes T AR ThHehIRf
THET ATed fehdl 18! €1, TFal SThedl (SH) T WehdT SIOT qUTET.

(ii)

Qe

2. EOS ATHATAT Sedeh! hHival THET 3Td 7

. OO0
AN MW

(v)
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e YarR AB =t ARt el ot WEg CD 3R 39T TRl 3T 3TMecsd I8 hi 19Eg AB T0Es
CD &1 qui 701 ZiTehdl TeU[ & 1NTES UHEY 3ARd 390 d AB=CD 3@ fagrl.

B il TRl gF HeS (WTESER! T2 HU. TS H EBS ¢ HE d THET 3.
3Tehe | Hefie WIS JEl TshHehRi Jod R A Bl THH 3T ST07 3Tehd! 2 F&d 7T
T TTE B TEA BT IS

TEETH! Fofd Teh Tl 3THd o T80Tl Bl BV SR GH TGS Bel J9H 390 @ d WEs
Theq TEAIT I I5¢, K o L0EE ThEy ITHdIS aX =l Sisl THH 319,

Jegl AU AB = CD 3@ fagidl degl Aearel AB=CD 318 T 37ed.

8.2 Peiumst wwwyar

Teh {1 GHT W Hidl 3T degl o GH IEE ThEY TEAd o AU Rehal. & Fart AT

IS W d g FIhIvT ThEY TR 31 3T TR,

AABC =701 AEFG gi-g! Tehior TehHehiell ddidd SeddTd Teurard o=t HIY STM0 SAThR a9
3MMRA.  Uh&Y FIehiv 3T1ed. giF Behron=h wehewar v frepor AABC = AEFG 37sft grael.

B F
Amc EmG

SR Fehiv TshET e 0 T 99 T81 9ch TV diF i ST i ST ThEd J78ard

T TehIviel TTd e TER UhEY TEIS T O GF [HehiUl Tsh&d 3Ted 36 gl 390l Tg0]
ehdl.

I 31, AABC 8 AEFG =R 3933 3TEdT cIT=AT T el UshHehlal SHdTd.

E fagat A, F fogar B 31ifor G. fsgax C
a9 LA LE T /B & LF =R, /C 8 £G I 3007 9t ZAB & ZEF R, /BC 8 LFG
T T LAC & LEG 3f Josal.
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ITIMIHR, TH THEY FHehiviel €71d Tesh 8 RRifeg, i 0T S15] TehHehe Josard fohan T0H
3TEAT.
AABC 3101 AEFG A&

A—>E B—>F C—>G (&a TRriferg)
ZA=/E /B= /F £C= /G (T )
AB =EF BC=FG AC =EG (& 1)

o1 37Tefl Stegl AABC = AEFG 318 30T FgUId1. UhEY TIehIuI=at Aratdies Hesterr=n sha

FEmETS

1. AEFG = ALMN
N
E
/\ M
F G T

2. I AABC = ADEF 38 @ 3% @ AABC 2 97d uesh fosgl.
())DE (ii) ZE (iii) DF (iv)EF (v) £F 3ft @a ges foar.

3. WIHIS HIVCT SIEIdIB bl Tehed 3ed =t 41d fog gue fagm © = aued .

R E

mm X
J it K

U T B C

!

4. WIHH ThHET FIhIvT=a SeTdics Thed hiF AT aree a1 foat.,
1. ATUV = AXYZ 2. ACDG = ARSW
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8.3 Feriv=a twHETast HEidd

Frepio=h TerETdr @t g SR Fd G geeh ThEY IRd § IIE0 e 3R 1 ? fdoe
Feplvr B UshEY 3TEd 8 ShHId hHT HIIET=AT SMER AT 8 qUTEUR ¢ IS aX YU T e
1. ST ST I,

8.3.1 WIS - WIS - W9, Th&Yal (STee)

SR qrETT TehIvI= TehT SIS 7Y S Tt Wifgd 38 0 qrel Hasivl TR Hehivl RIEe w7
HAG THAT M GHEA o Bl TrStoywT Hes.

P

A
/\ |
C Q R M N

n
= 5 cm 5 cm 5 cm

HAS FHtan gaH

el oY Iehal i, Td TRl STNTeS 3TTed hHG- THYS FIehivl, A hieshia Frehior Sfr
gar+ fawrsea e weat.

AT TrETHT TehIvIT=aT Stk S TS =t WY 4 St 371for S &t Aifga o1ed o qrel ared e
G IS 1 7 g1 HHB , AHAT ST A TS Fehivr hies.
A

P L
4cm /\n M
C Q R-M 5cm N
o

5 cm 5 cm

e T

SR qrETo] Hehiv=al Td dToe "YU Wifed STEdIe 0 6 8RB ¢ UG , AHdT 0T gEH A1
Fai- Bepm=a @9 SN - 48, S | T 6 EH STHUIR BreR Fes.

a

< <

b&\ 5

2

A 5 cm B A 5 cm B A 5 cm B
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ITMIHR S TS ABC =t whidt &t 318w fohal ABC =1 T fehivl 5T 318@ T SIS
ATHE IV BV TohETd= aTe-aTo[-aT9] (J1-S1-J1) HER! TEUrl.

SR gF B THhET e d A T SINE! Siel S0 39S 7681 e hiAgEs] ThEY
YIS HE 7

Brepivi=a twEwdE SN-AN-9N BT (F-91-91) FEEL
R Fepvren &7 &N ge=n Beren i @ aNE ' oEdie W @ B e
ITR4.

-

FqaTETet

ALMN =fi Sl Ae. 3111 99 sfiesr am= L
Y= Tk 30T TR 0 ALMN <R &1 e

a1

J Berivr thEY 3TMRd ®E? AY 9 ThEgde M N
RV HHET I Al ?

- J

JEW 1 :  APQR = AXYZ IR ™7 T8 g9 Hepiome d@a wF foar.

R 6 cm Q X
S 33
< C,
) N
Y 6 cm z
I : APQR 0T AXYZ A& fCHea SAThdTSHI0 STICTA
PQ =XY =2.9 @t
QR=YZ = 6ot

RP =7ZX = 5.3 &
ITIMIRR. ARV STS[-STS]-STS] AT Th&Id=AT HARTIR A PQR = AXYZ
wyseyu) fog P &1 forg X 3 wra 31z,
fig Qw fog Y s &wma ome. enfor
fag R &1 fog Z =t @@ a1me.

/A /P, /X ; ZQ, £Y; /R, /Z 7 G S M.
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BCh.

1. GIHS SThARN o1 o 91 Th&Idl @l 378 1 d 3@l HRu &l

S
A i C
Q) \’\][ i)
N
J[\‘\ R L b
B J E v "
A

2. WSS ThEd TIRITEE] T ST SiS SN,
@® T S (1)

p i ) i R

3.  Y3I® Had ehdid A Ial FHEe.

@  APQR = APQS

(i)  APQR = ASQP

R
S o
9
(i)  APQR = AQPS P Q
o
M
S

(v)  APQR = ASPQ

4. G e dAhdmed AB = DC 3t AC = DB @ AABC = ADCB.3Tg &l 7

D

8.3.2 €N % 9 THEIAl

SR SATICATST FAhIvT=aT Tehtl STS[e A9 e T AT90 S Tsh&d Biepiv hievl w1e ATt @ 190
Sftrdehes 3R, STTAT STTIUTH Teh hiH AT Teh 1] ! @ ? hHS AHAT 0T GHHST Hrenrom=it
T A S T TH BH 65" TGS BRI HERS A

I TWSie = B s,
ABTET WEHFRI AHd FaRT 2019-20 o= TwEgar I3
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5cm A g

mmmﬁmﬁﬁmmwaﬁwwﬁwﬁwwmw T T A g
S Tt SISl ST 4.5 FH 9T, 1 AEEN THIHR w650 NESS FHR Here .
FAB 4 AABC weeT fad BC = 5 9= 9r Hew! Iat fad ShiFabs £ C= 65° Shiedl S
TR A ST A 4.5 T Bell THSA folg A WA T dH A 3107 B Sfigd odo.

A

N 5cm 5cm 5cm
fag B o 919 AB = 4.5 I 378 @ 65° I el g Aehdl I ? TIR SSAT BrhA e
FHIGHT ARV ThEY 3THS I 7 A7 {Shit TR ST FHhiv g Tehed Bpiv 211 3 qo=a
[SEICADEN

SR 3TIUTH AABC =t it 7eft 318 fohaT AABC Ts&d Hehiv ga1 378 T IUME SF SIS
THEIA ST9 B ST (1 T 1 ) FEE TR

5cm

Preplumren e ] B 9] (91 B &1 ) FER : SR UH e 9 a9 enfir
T STSHE FHIASE SHF GO FHRRIUT=AT GF |Td STS STI0T o1 SISHed HHTfase i Jreamsi
THET STEAG T 7 BB THET 3TTRd 3T TEU.

qUaTaTat
APQR wfi®s &5] PQ 19 QR = &Teft Hisn q6=
ZQ TS, AT AT i [T TERAH IR f3eer
T fFeRivT e &
£ APQRET 341, %1 A B whEw amd 7 R
Y THEIA=AT VAT HEET IR ol _?
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[ 2 ;. @S e Brepvn=h A wen o Gepi tehEy o1ed 7 w@a ey st
% U ?

W : AABC a7fit APQR AC = QR 3ot BC = PR

o wmIfese £C = /R

AABC 31t APQR "=t AC = QR 37fit BC = PR &Irdie s £C =~ /R

T, AABC = AQPR

Ao QBoPaAMCoR

/U /A= /Q, /B= /Paf1 /C= /R p
IEEO 3 : APQR, 954 PQ = PR A1 PS & LP =1 U 2778,

APQS 3TfiT APRS 2 UH&EY 3ATed 1 ? AT HRU o1
W : APQS 3Tifor APRS A&

PQ = PR (fwe) Q S K

PS = PS (22! fehivma a9M 91)

anfor gHETfese ®H ZQPS = LRPS (PS g H gHIN® 37T7)

TEUH, APQS = APRS (I & &1 HARI J9X)

W - 2

C
T i g Bl a1 i 91 FERITER THEY 3TMed g 5wy HIeuamEE! graral
e fadea mfgdi=h e 31,

—\ (|

ASTAT TERI ATha fHaRT 2019-20 o=t TwEgar AN
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2. TS bt T ATt U Wt guiterd.
We AT B 0= We P M Q AT gH WA SieAm™ed We M Y 7TE] TehmY 3778,

TWES A M @ P Idls 3T fobed) ?
@ Q
APAM = AQBM % quTET.
<>
> s
@M
i 4 T B
I,
3. TS esea Benlv=an SietTehs 991, ¥ o They ATRd ! ST UhEy % T I
qd U foa.
B R
®) S

» o
A130° >

2) 130°S

< 5

C
F 4.5 cm E 4
A cm B
30
(i)g 5 w (iv)
= g
30 ~
D 7 cm

I 4.5 cm

N
WG HhI &1 o1 HALHAR THET ATed § g HOAME! HIUA TG 19
IMICATH WG TEU Tore 317 ?

5 cm
Lz
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8.3.3 W9 W HIT THEYAT (Hi-q1-F1)

SR g1 FeRIvTe Tehel SiF ATigd 3THS T d Behlv SIg ehd s il ? S T GH i Higd
IS dogT B ? SR S BRI T A Wi TS L Tehed FAhI0 1@ Iehdics ik ?
HU, A T gEE- Bk wE 400, 60° M 80° TGS WSS it Hes.

80"
80°
80°
40° 60 40° 3 607 40° SORL 607

TRV Sl FeRIvT=AT He A TehEd 3Ted Tl T ST Blel Th&d ATald FeV[d d Teh&d B
el

M YhR , ThEy Hehl0 HIGUITETS!
TS STl BTell HTE 3780
TS AR S 3IeATA 2 i
40° 607 60° 407

T Teh o] el R 7 A AT e —
oA 3 60°, 40° N TTSS T 5 Kamal Susana

oIl PSS e wres.

SIET Gieal g1 T FehIvl Shiee deal il f[Caa a1 & g I TuIfase ST Had.

U Tk 1@ SreRdl hl, SIS TEREN vl St el e fohar w@men
IR gE0 TETE Thed v SRl 8@ @ AUeITS e gF A 3Tl & g=

THEIAH! HIF TIN5 B HEA : T BRI GH HH A0 e qed Huriase S gEe
FrepIv=l SF TG S 0T A=A FHTSE SIS AT UhEd e at d Hehiv THEd

=D )
[, | Frereet ®E 60°, 40° AfoT S5 5 HH S Bl ST et wfiide.

“ TR ST SRS O IURT STV oM Behiormer e e 800 o1&
HES.
FAS : 60, 40 707 I S T (Rrerpi FiFAEITIER)
FOHT : 80 40 0T ST S FH
At : 60 , 80 7T &I 5 A
M T Fepivr YT Bdqes ST UehHehiok 3905 o Td Ush&d  3TTed I ¢ qral gl
3TN Y .

.
ASAET TWEHERA AR f4aRT 2019-20 o=t TwEgar ARNE]
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IR 4 : WA ACAB M1 ARPQ o5 2118 d 2 BiehivT Uehed 311=d o1 d quEn S d
ThET ITHAS L R IeIq Teehi=a WISl qral i |F] Iehdl ?
JW : ACAB 31fiT ARPQ Ted

BC=QR=4cm
ZB=2Q=120°
AB=PQ=3cm o~

120°
A 3 cm B P 3 cm Q

3T TR ACAB <A1 F 919 U AT=AMed TS i 8 ARQP =41 TF & &) 37Tl
T ACAB = ARPQ ( S5 %IF 9T HARITAR )

o1 oreff = g Frewroma

AC=PR

/C=/Rand LZA= /P
IE S : GIH® SAhAMHE GH BT §9H %M gRafde 38 ¢ d FEho ThEd 31Ted

HI?
IW AABD 3Tfir AACD "€ A

ZBAD = /CAD (JAM=d feasean 381 )
ZADB = /ADC (YW=l feasean 301 )
AD =AD ( @HM ST9 3T Grafeemsmm! ) 5 e .
3T TR AABD = AACD TH&TA=AT hiF 915 hiH HHITHR THET 3.
WG BRI SISl Thed 38 A ? qH=A1 Scalrea aHeATed SR .
(aTETs b
WA Rl SISl ThEd T8 M ? o< Scalre queTe SRl .

- W J
17
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SIS ST HES
(i) AABC 31fiT ADCB U&&Y 37 S ?
(i) AAOB & ADOC 3ff Th&q 3118 17

THT T Teehidie HaY 3TIed AT JHeAT Scar=an gaATe
<h[UT <.
8.3.4 HEHIA BrHivmg HU I THEIAT

I TRV Teh hiF HIehH Tl § IATH 3TMeld HIfed 3T doal g Fehlv Tehey
3Med g Tog ATl e gE= Shive s el 378 7

TS T AT AABC = ITTET ¥ sAmed /B = 90, A1 FHehivnd Ushey Breplvr o1mavr whig wrehal
H, T

(i) %ed BC = AT Hifgd 3112, A
(i) W /C Hifgd M.

()  ZA 3mfor £C mifea 3.
(ivy AB 3for BC Aifgd 31med.

(v)  £C aTfor BC wifga 37rea. L )
(i)  BC anfir @i AC Wi a3, )
ASMAT WHRA Aha Rz 2019-20 Pt ThETaT ARV
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SiogT qral AT TR Fel TGS HIeRET T s dogl qHel S&Td Ig@ 6l & (iv), (V)
M (vi) HET § IR TR,

YEeH 99 § AR T R I @ Hehq BRI Ful Y& THE S TEuam.

FH0l YT T ;- SR TH HlEhH BRUTET HU g Th G99 GEAT HIEHA homen w9
WA 919 IreAm THEY AEAG o G HIEHH Hehlvl TEai THET FAHam.

IRV 6 : G BRIV IE WITE (UeshiE) A Wit fedt SAed et Yol JHATET 9T
T d aH B Teey 311Rd fohat ATET 8 aurEn. ST d kv Ty smdie @
g™ grEan.

AABC APQR
(i) ZB=90°,AC=8a, AB=38# P=90°, PR =3 &fl, QR = 8 &l

(i) ZA=90°,AC=5%ft, BC=9&f ~Q=90°, PR =8 adt, PQ = 5 &t

R A

I ¢ L L
8 cm 8 cm
@) A LB=sP=90 0B c

& AC %0 RQ (8 Tft)
3Tfor 915] AB = TS, RP (3%t)
TEUH AABC = ARPQ( oS SHATIAR )

~ 3cm

C R
(i) AY LA = £Q =90° oy .
99 AC= s PQ (5 ). 5 J em o
%, BC = &0, PR fm 5 ol _ ,
TRUH B PRt uehey Ard.
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SCEW 7 ;IS AFAWA, DA L AR, CB L AB FMU
AC=BD.

AABC 3Tfi1 ADAB Ao diH Teh&Yq TZshi=al Sl Al s
gt

WTAIUh! hIvrcht fem srefyuf faem srefqut (wmef) smaa ?

(i) AABC=ABAD (i) AABC=AABD
IW : THEY THAT dH ST JESIH ATed.

ZABC = ZBAD (=90°)

AC = BD (feaeargam)

AB=BA (99H 91)

AABC = ABAD (Ul Y31 (YH) HEAIER)

e Hifgd .

faam (1) a3

fau™ (ii) 7 AT TR FRU PRIGSd® e Td ATRId.

4 )

FUITET3Y

1. T fedea  SThcmed Behiumean wrdt Wi A fedt stmed ot -ys
U TR e IV hIVCT STSAT UH& 3ATed o TG hil. THEY

D(1ii) (iv)
THETAT V1 e SHAER @ Rffareut firg 9o R i AABC = ARPQ

ST A /B =/P=90° 7M1 AB = RP? ? iobs 3180
T ARG hivrdt Tifgdt TavEes 317 ?

ASMHT THRA AIoha frawor 2019-20 lEcabicil ey 177
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(3. IT® FAWEY g M O 8 AABCH A
RR®s 37zd. BD = CE
(i) ACBD 31ftt ABCE Tefies 3 Ueh&q Teshi=al S fosgl.

(ii) ACBD = ABCE 31T&d %1 ? 3HcI™ 1 fohal 78I B C
1 T8l 7

(iii) ZDBC = ZEBC 318d 1 ? THATE ol fehdl THATE 6 ATal ?

4. ABC & @wigys B s/g Ag = AC M Ap @

RAies 3R, (3Trhdld qRaereATIHTON)

(i) AADB 3711 AADC Wefies fiH Teh&q Treehi<an Siieen fosat.

(ii) AADB = AADC 3Td &1 ? B D C
(iii) ZB = /C 312d ®™ ? FHeATE H1 fohdl TocITE HT T4,

(iv) BD = CD 318 % ? 3™ ol fohall FHeATE 1 7. 7

@EN - 4

() @33 :AC=DF

A D
AB=DE
BC=EF
B C E F

A, AABC = ADEF ~ ©

(i) @S :ZX=RP

R Z
RQ=ZY
/PRQ=/XZY
p Q X Y

R, APQR =AXYZ

(i) @S : LMLN = ZFGH
/NML = /GFH

L H
ML =FG N
F
U, ALMN = AGFH
M G
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(iv) feot : EB=DB 5
AE=BC E
ZA=2/C=90°
T&UH, AABE = ACDB Al vam— [
2. TS AART = APEN CEERE 318 A

(i) SR JrEl STETET HAR] RS T RIS ST STl TR,
(a) AR = (b)RT = (c)AT =
R T

(i) SR @1 LT = 4N G (07 JraTesl Sehia HErel
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Teh! FehIHTE T ShIF THH HTI 3T8d 81 =ehlA U= eiqed el d Yedeh shiTel HTd
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T F AT THIE G STTelTes TehR TEdTd.
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12.4.2 947
T BT oIy YehrE <eh 312, TREAT GO STHO-1 915, §9H 3Ted. 381. AB = AD
afor BC = CD.
: {7
C
TS ATHT T 3T @ AT IqT A8
I 3AHAl T I ATE. 7
Frvaror = i,

(i) T SRHTST IR SIS AT, (8T e Sfgash 1@, )
(i) 31 FHET GH NI I FHHAR SISl IFEATA.
FH 2
T S HEE AT, TS 99y gL 3ehdia (1)
SEIETIH S @S el

WEEHTET BV TR 1Yl =T, (3Tehat 2) TFaTA

T FHEY 3T8d 1 7 HUTAT [GH I GHET. TR SATsal
YT ATY IS AT 378 I, 7 I
AT Ul FHH SieTe 3TTed 1 ¢ HIS fohal ShTe GHEA § UL JTaT <hi, U1 TLETHT GHTTATA ?

Figurel Figure2

e

A | grETast Ao
Y| frg F0 - W ABCD WEY AABC 3T AADC & Uoed 3113, B'D
& J

.
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12.4.3 GHQXqS A
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3 B o, S 3 A B S arEeTE R
JEUHET STSl.
%§ & 54

%mﬁﬁwﬁ?ﬁmmamﬁaww%ﬁaﬁq@a F HIOTCAT T ST AT 3TTed ?
THIRETS] ThEY 3Tad 1 ¢ AT< BEpUT=aT 9T & qral STUTE! gH SHTAS < Hesq
IRl d g HUTRYS b= INET /G 3.

Fdt 4

T SIYLL! BT, SAULL! HFIGEL S Tehdld | GRIGTATIHY fd=al Giral STS[e1 LoT Shiel. T
IMHAId 2 TGN $99g! 3Meft qal STS[@! W HIEl. Il Hhlesedl I IR [ITEd
FOEARS §To] FHIR STEH TGS iR & AMhd TR B

R0 A0 0 L L et Oty
0 1 2 3 4 5 6 7

Pl 1

12.4.3(a)  GAIRYS <hi= oreH
AT ST a9
Fat - 5

T FHTTS ST TR  THET HATS! 43d =1, &= A1 ABCD
afr A’B°C’D’ 37sft =@,

C D 2 C’
~ P ~ e
~ ~
\\\ // \\\ //
~ // S~ //
S~ - ~ -
. 0.~ . 0.~
< - ~ -
~ - ~ -
Y, ¥
- ~ - ~<
- S~ //, Y
g ~< - S~
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Y Ap I Ap &1 THEY S5 AR, YA AT GG A9 gl THEU IR, A &
IS DC T 3. AT T THEY ed hl 7 THA Agr AN DO AT ST Gegl qugd
TET. T e IS d F.

TR |l hl, SEl Je31 SI9] M /THEY MTed. TeU[H THIGCE ShHT= TREHIS
o ¥HE FEATE.
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LUEIEICH
S HIUTE g "I 30° — 60° — 90° frentor =
M ST T TG = &Td 34l

79 AftTe TRl A FdllaEd qIREI 918 Wehdl W 7
T A g1 | SIehiA ST&dl 1 7

-

IR 5 1 AHAYS dreH PQRS =t wlifirft e,

FW : THERYS b HHe) TOREERIS SToE! Biel qREe 78,
JTheid feeamm PQ= SR = 12 cm / *
anfor QR =PS =7 cm / %
v, TRfRh = PQ + QR + RS + SP P 2 om Q

=12cm+7cm+12cm+ 7 cm =38 cm
TS DA™ HH
Fdl - 6

ABCD &1 Teh HHIYS bl B3 18TE dieh oH U 9t gy whrer. s1fer @mest A’ B C' D’
318 19 <. 3Rt 1 e gRIFeAmsMm A’, B!, C', D' &1 ABCD &R 34T, ST fofgak ol qeea
BEAT qY ZTE BTET. HATAT o8 YIR 90° HIATd ThTaT (STMRelt 2) FHT0! GoaT Al =itehi 90° =31 hiHTd
fhTa qreTest AThdl — 3 THTOl RIS S e, qraret 38 falie A’ &1 C 31for C' 81 A
qdldd ede. AEFATl B’ €1 D e A0 D' 81 B =R ddldd Jebes.

A

\
\
\
D c \ : - C
D, C D, \ D e B A
//
7
7
7/
M 7
7/
, /7
A B A  a B C B
B

A 1 et 2 e At 3
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RIS S5 A ST C I ATY THETH 37T2d @ JFelal THSo 8o, STRI=EdgdH a9 B
anfor D =7=h Arg S

Y : GHIAOE Ao WERaEg ST TREI ANE J9dw.

wEEet -
TH A 30° — 60° — 90° WA TG FHehIvT =1 TGS b GRS,
TR ORI TRt Tl df¥Teed HuSvaTETd! Hed il I 7

TS, ABCD &1 wmiwyst S o/t ac 9 gp 2™/
Sl 3TTRd. YA

Z1=/2 M0 £3= /4 3TE. (A HAM=AT UEHHHR)
AABC 3Tt ACDA & Ts&Y B 311ed AABC = ACDA —m—aﬁwﬁz‘lw
BE ms/B=m /D (TH&Y R @7d i)

T AABD = ACDB, TH m ZA =m ZC (THh&Y b Td M)

UM - FHIRYS BRI SRS S AREA H9 STEA.

ATAT ATV TS HIHHTAT HaAT hiHhs o8 o /AR +&.
U = ABCD, DC || AR 3T DA & Sl 3T,
RUH, /A S /D g SiF Sicheal Tl dS[e! STHR TR

3MRd. TEUHE o TEHYh 3. ‘
ZA I /B Fgl T 3ATed. qral |7 ekl i, d Jieh 3Ted ?

D || BC o1 ga & «r=h 3w sm. st <Ad /B A s
SATALHH TR,

T - |

T fehea TS 9 ABCD A<
T gieh TSN SIS ST,

IR 6 : BESTamﬁwmx,yaﬁzwwﬁ@m
I : /S 3ol /B g SHREHS S 3R,

BE x=100° (faEg ST TUIaH)
y=100° (WTd AT UEHG)
z=280° (Ly, Lz Tfa Tkl M 2184

IR S ShHR A HiF WER &6 IFad. I IS IEWmed gl A0 =
fashd e 2.
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ICEO 7 HHRYS 9 RING B8 m £R = 70° @ ST i shi-T= AT el

IN : A FTAeTSHO m/R = 70°
TWE m £ N =70° y N
B Lo
T LRI /13 TERES 4. RE2 !

mZI=180°—70°=110°
I m/G=110° /G 9 /] 9GS i TR,

B/H mZR=msZN=70°d mLl=m/ZG=110°

EmEEt -
TS ITEMAS m L1 MM /G = A9 GE=A T hreal It 1 7

(FF : <RI HFTAT SSET OTHH. )

12.4.3 (b) GHIEYS HHR HU -

Fdt 7 - Dy— _C
. \\\\\\\\\O’/////

THIYS =T Sfaed! =, fqast ABCD A& = Py

3 < F AC 9 pg T SR ‘0’ g,

AC =1 meafag, RRifag C &1 A 9 grgd Wuvar e HU. 81 Aefag 0’ 3 3 &1 ¢ q@=
%l pp =1 weAfeg RRifeg Do B ot gagd Mavar e . & qeAsg 0 & A Hh 7

J I H pp & w0 AC & O’ fogned Sear. 7 Ffeaa g w1 2 g fimreiea ==t .
DB =1 HeAfeg MEvATER! g4l goal .

IS SR S0 WA GHRTaE 7

HI-F1-h! FHITAR GG T UTEH T HO, JTUS
e,

AAOB = COD (&I-91-! =T IR FHHT Sl 371,

Ireed AO = CO 31Ut BO = DO
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3CTE 8 :  HELP &1 THIRYS A 318, O &1 0l HL 37for ot PE =7=n
et 3. OF =4 cm HL = 5 cm @ PE Ui HL WT&d 3118 o ?

OH =t Seft smem. b —=P
IW S OE =4 cm @ OP gl 4 cm 3. / L /
BIH PE=8cm . [ \\ L

HL = PE 9&TT 5 cm ST&d 3118
B HL=8+5=13cm

1
U OHZEXB = 6.5 cms

12.4.4 E0YS <A

RIS TRl <epFT = 3 Ffehd! STSad 1 7 TSHTO
TG HIET 318, IMhdTd FEIATIHY ABC %1 3 36T, JraTal
T T SATehd! fHedes. qarr=an aTs] AB @ BC 3T 31H9H Bicdl S’ geal
AB = BC U3+ SITE HIS R RIS THSURT TG 1 TS <ehH 3THS.
THYS SRR ShIIT.

BeTq A1 hl, TS <AehMHTeA H §T5 FHM STHA. U G HhA=AT ¢

HFd FAAT FT5] HHH STHATT. =l o9, FHH T8aTd. Rhombus-cut
THYS M= THREARIS 15 THIGL STHATd. T8V 994 T 8 TS diehH qEie
JTEAl. TV U WIhMMEd FHIGNS T ST Ia AN §d afvred oA, a1 &4

AfecaT= AT HATET TS B, GEA qral qHET AT F TSl Yad it At A g
HE Iehdl.

T TS b
Ft 8

T TS HHFT BTG ST, BTG GHET Q- 01 eI SagHTaTeh STeaT= @i .
& GGl quEd UTg el hl, 28! U JEITHT ShIEehHTd BedTd.

TG ATV FE UIEH FHIE THIET qUEd g,
ABCD &1 THYS diehH 38, ATEYHT0 TS i g1 8.

=E OA = OC 371 OB = OD.
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AT YIS mLAOD = mZCOD = 90° g @ SIS,

D C
; f ”
U7 FeRIvT=a S1-a1-91 HATHR § | Iehdl hl,
XX
AAOD = ACOD \x/
//O\\
TH, m ZAOD =m/COD X
T /AOD & /COD ¥ Sididies i a1, JCad— ) A

m ZAOD =m ZCOD = 90°
AU @ fispd g Thal Y, TS HHHE HU WO FagHISh AEdTd.
12.4.5 @ -
IR HF G HAGET T GHIGS SRS AEd  TEUaT.

(ST =R FHREARIS TS SHedl HHH AT STHATd. 3T Jcdeh HiF HleehH &l
T <A G TEUATd.)

Slies e qui 31 i gdl 7 qHeA e == .
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Tx0 on
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X X
A ATl Y% B FEHA I@a 1 N E

ITTE TV 3T FUL Iehdll hi, T BT STHT THIAS T 35, hl SATAT Tdeh i HIEhH
IR,

AFA F GHIGOS I AR FHREHNG 915 G4 WNT=AT J@drd AT ol
AT GUTTATE §HIGS ShIEed HUl @ 3T M.

(TUTET 9ET) YU, ARGHE} HU G S AHar.
d YSaewEEel WY AR -
X ABCD #1 31d 37T,

AABC = AABD D : —C
W, AABC = AABD (AmTSR ) 1 T 1
BC=AD  (&1)? | gl 1
m/A=m /B=90° ()7 A : b

TEU ST-hI-d HALHAL AABC = AABD 3701 AC = BD
(THE FrhIvTeaT TshEd ST (ThE Toh THATER))
TRUH AFAEEl HU H AR AT,
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OR = 2x + 4 3f01 OT = 3x +1. X300 N
Ny o S
3’ : OT & &9 TE =1 f37a1 o7, 37for OR &1 v RN =1 e
3R 20
SN
Y U TSI AU AR () ? A .
TEUE I I W g §ee SR RY g

R 3x+1=2x+4
x=3
12.4.6 It®
ST AFATA] §d 9N M IARd ATS1 SRE FgUaTd.

TRUISE SRETHE T e TUIeH T8 Ty T <ITel Td: <1 Ueh {9y T[orend Tgurel o=l
e FTe] FHH HIATAT 377

TRET Ul TR HUMTHIOE T Blee AT,
JTIAEY Ul AT S T T ATal (TUTET TaT.) 90 SHET ol Wl Be ST,

AN TSR UTE, -

BELT & =¥ 318 %4, BE=EL=LT=TB

ST 399 ABOE 37T ALOE 1= =R . T4\ ’ /J/_L
OB=OL (1?) RS %

OF # ATTés o 318, T x,:’@\y T
TRV, W1-a1-a1 FEEGAR  ABOE = LOE T b o,

™ /BOE=ZLOE
Wi  £/BOE + ZLOE = 180° (17?)

180 o
/BOE =ZLOE = T =90

R SREe HU 3 WERE SEgHN® AEd.
< w0 -
()  OEIUHT gHTTdTa (TRE 7 FHIRS <A 3Tl )
(i) TN SEN FEAE.  (INE T I ) AT
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12.5 <dFea 9gEAW ATHdl S0

(EFm & = IS 1R AT e Bk, TR, RIS ShH,3. e Hid AT )
ST ¥ gohe AR FHGE b, THIGNS T TEd 9 IR IT AThel 4T,

TATEYE, R fqdeT ETSAT SAHA ST G

3qr8r 10 :

3qrger 11 :

I ¢

AN

s A ABCD,H84 Ag 9 CD @ 99
3TTRA.
L A=50°, /ZB=70°. ZCd £D .

AB @ CD © 99 3Tad.

ZA+ /D =180° (Sfh=an T S
R £ZD = 180° - 50° = 130°

T /B + ZC = 180°
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TS AT HTaeT A [olical 3 : 2 3R, T ITeAT i< WY
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FHIAS <ehHTe S i e AT,
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U ST SOS = 180° 31Ed
AT BT olcal = 3:2

sy s T T 1802 =108" s

180x 2 = 72°
5
3R 12 :  RICE 1 §9Yd =%H 38, OF 7ot OR = #7930 125
QR T A e, N[/
/U OE=0I =7fir OR = 0C
U OF = 537U OR = 12 V
e Qe - 2
o 6t SO T fosa.
@) Td TG IRE AT, ( )
(i) T HEVS WhM g HHIGYS S AT, ( )
(i) T9 TRE GHYS WIRM M G FHAT. ( )
(iv) 9 I THAS = AT, ( )
(v)  E 9 HEYS S THAT. ( )
(vi)  Td FHS T YA FHAT. ( )
(vii) Td THIYS I THGE FihH 1A, ( )
(viil) TS ST HHG b AT, ( )
TS HU Hl, IRE 7T -
G =@ (i) — THIGOE HRE .
iy TS FHRH ITR. (iv)  Td oTR.
TAYS FhE s ABCD A&l A
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C
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4, TS b Sa hiF x© 3T (2x + 30)° s R
3R Td T AT Q.

5. DEAR &1 THGd <ehH 318, TI HU. TAT=AT I 9
U 3R 7 00 [,

6. BASE T 3T™d 38 O & =1 Shvlial Bedfeg 38, S OB = 5x+1 3701 OF = 2x
+4 W x?

A S

B E

7. S =R ABCD B £A = 70° 311U /C = 65° 1 THTGS FihF 85 I ? R0
T,

8. TS ST HTael S O S @ 3 3778, IR 48cm. 318, Jcdeh aTo
STell el

9. Teh! ThHTe U1 TEITHT B AT, T Al lehH THYS ST Ul TEITHT &8 3.
T A <A1hH THYS Aehd TESG h1 7 e TIC HUATES! el SThel! hIel.

10.  ABCD & @nad =i 31&. A || DC. R ZA = /B =30° d T 3R g = A9
AL ?

11. T Sm wa.
() ST gH §S THE STV HHIYS FRMHTB. ... FRUTATd

(i) 1 FHIYS SRS Th g 90° HIHTET Tl EF Sa=al SIS 99 3178,

(i) ~ Twed =eE ABCD Wl A |l DC SR £D=x"® LA=

(iv) THIRYS M=l T B AT . ... Frepromd gy,

(v)  FHIgS =eH ABCD 7€l &= &0 AC @ Bp TERAT O fogd gurTam. ST
AO=5cm ®AC = kil

(vij ¥R" ABCD, W&l 1= vl a1 O ' feigd gwrTaTd, @ L AOB =
(vi)  ABCD & THIGYS 9l 317, deal LA — £ C =

(vii) 3T ABCD #&d AC = 10cm @, %9 BD = it

(x) =& ABCD, A3 AC HV1 i 38, W LBAC =
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S <RI STHTG 38 0 dl dfgdsh e 3.
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TS GHTAE SO <Hehi=TH
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[ fred et
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o anfor afefordt 13

13.0 393
ST AT AT SRR ST AT &TBBT MU 315, (IMehet 1) T fod
farean Sfaf=an favmmoft s fafia stmerra S BeRIoT STRIa SHTa0S FiehiF GHYSEIR STTT
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TS S, FIhIor TS Heh A< SFhes Y Hiedd ¢ FIHAT. JIH 39el Arfies e
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Gl RUlmed el S 7 foeht smea ety ot s1qul smea

TBSH! HTfed! .
ELGIEIRCISY SERT fefret
15 &t 225 G2
88 =l
3. Wifee aruiued Sl et 9 il omrd. qunfy el smza
MBS WTfge! e,
SIE]] G BERT gfefert
20 Tt 14 oft
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13.1 WHIMYS SR 8963

3Tl | Aefie TR 1. ff THIALYS =l 32, ST 0T T
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[/

Figure 1

Fat 1
Al TS e YT AT

ST SRl 2 AL GRATICATIHIY FHIRYS =i fodl
ST W 1Y AT ST SHETGTAT Behiomehd] SRR
Tehel ATSBT .

Figure 2

Tl 3 HE TrREfeATIHTYl al Behlv= qehsl gH-A
TS BT S § A ghS Teh ST TR AT T o Sl

Figure 3

IRl 2 e STEHTAT FHIGS TIhHTE &thes 3TNV Tehd] 3 HEd THGCAT AT &THeS
IR T ATV FgUL Iehdl I ? ATICATH & B T8 TG I5a.
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e Hlq IS 3 TG S hl, THIAUS hHT &hes § A=A Fhel Taed
TEA. AR Hifgd AR

AT &ThS = Bel & T -=

HIATH & gl Aifed 318 I, ! breadth |/

SR @i & T S ! (height)) s

T Ued] FHd AT ST w8l

TEUH, HHTAS HIhHTe &b = AT &AheS
= 7eft & B

= U & S (@il = grn; e = ) i
AAIHR FHTAS AHHAR @I 3 =T I N & | height (h)
N

length (base)

S UTHRIEE 3.
q N AT%e = qET § It base (b)
ICECO 1 TAS THAYS FBHE SFABS HIET.

) I : HETAS HhHTET 91T (b) = 4 Teheh

TS ST 39 = 3 Tehdh
AT AT &% (A) = TrTs 3«1

RE A=4x3=127. THh
ITIMYHR FHIAYS SehHTe &%hes 12 <. Thh

A B -
(ii) I
FHTAYS =T IR (b) = 6 i,
Bm AT =T 3=t (h) = 13 1.
THIAS AT §F%hes (A) = IR & I
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D _6|m C STIMIHR FHTRYS =ebH ABCD < &%hes 78 =it Hi.
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/
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(8) i, ii T iv SEUI=T T SR STV iii SV T TR

EeE -2 (98 - 71) |

) i (2) () 65°  (ii)50° (i) 1°  (iv) 35° (3) 45°,65°

(4) B, SO ST AT S 90°

|mem -3 (8- 73) |
(1) (), (i) () ()75° (i) 85° (iii) 30° (iv) 160°
(3)  oF SHHHA AT s 180° YT HHt R (4) 90°, 90°

| -4 (Y8 - 74) |
(1) ()ab (i) c,d (2) (i) ZAOD, ZDOB (ii) LDOB, Z/BOC

(iii) ZBOC, ZCOA  (iv) ZCOA, ZAOD

3) 2w / FW /AOC + ZCOB = 180°
0 5>

A

@ = >‘

[T -5 (8- 75) |
1) i, i (2) TE SR T TSR AT ATEH.

@ -6 (I8 - 76 ) |

(1) (i) ZAOD, ZBOC (ii) ZAOC, ZBOD

(2) y=160° (ffeg ®M) x+160°=180° .. x=20°
/x=/7 Toeg®a . z=20°

% ZAOB + ZBOC = 90°
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[@eag - 7 (98 - 85 )
) () sfe (i) FaaR (i) THRR (iv)Th
() (1)100° (ii)45° (i) 90° (iv) 100°

(3) Zx =180~ (75+45) =60° ; Ly=75; 7 =45°
@)  b+50°=180° - b=130°

b+c=180°= 130°+ c=180° = ¢ =50°
d+50° =180° = d=130°

(5)  ZAPQ+ ZAQR = 180°

100° + ZPQR = 180°
ZAQR = 80°
ZAQR = ZCRS = 80° HaehH

S llm

6)  Za=50° (FHH HH)
Zb=50° (chH HI)
Le=Ld=Le=50°
(e A HH)

05 - Beior 9 Beioma ures

| -1 (g8 -93 ) |

(1) (1) s (i) I (iii) SR (V)T (V) ST

[mem -2 (58 -94) |

(1) (i) m&rm 0 (i) fopa 3=t (2) wresh Brepivr (3) 8™

(4) 7. FrEEe Behmme dRle aNg . (5) () XZ (i) £P (i) B
[Erem -3 (38 - 100) |

(1) (1) 70° (i1) 60° (ii1) 40° (2) (1) x=70° ; y=60° (i) x=80°; y=50°
(111) x=110°; y=70° (iv) x=60°; y=90° (v) x=45°; y=90° (iv) x=60°

(3) (i) 40° (ii) 34° (i) 60° (4) 60° (5)() T (i)™ (iii)=F (iv)TH
(6) (1) 30°; 60°; 90° (7)x=100°; y=50°; z=100°

(8) ZLPM=40° ; /PML= 50° ; /PRQ = 50° (9) 72°

(10) ZP=50°; £Q=30° ; ZR=90° (11) 18° ; 72° ; 90° (12) 36° (13) 540°
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(e = 4 (38 - 10))

(1) 3/@@H : ZABC, ZACB, Z/BAC ; sTel%H : ZCBX , ZACZ , ZBAY

(2) ZACD= 111° (3) x= 115° ; y= 35° 4) ()x=50° (ii)x=33°; y=82°

(5) ZCDB =76°; /DBC =39°; Z/ABC = 58°

(6) (i) x=55° (ii) x=100° (iii) x=120°y=30° (iv) y=70° (v) x=60°;y=150°
(vi) x=50°;y=130° (7) 50° ; 75° ; 55° (8) P 35°2[(9) 70°

(10)30° ; 75° ; 75° (11)  x=135°; y=80°

06 - TFha AT =MET TR
[T - 1 (98 - 111) |

(1) 100:10, 10:1 2) =15 (1) 15:5 or 3:1 (T4n: g&n)
(ii)5:15 or1:3 (a1 :Tan) (3) TSET AR =40 ; o= Tl = 56
(4) Ax =18cm ; xg =20 cm. (5) %.60,000 (6) 8liters

(7)40:200r2: 1 (8) 1:2400 or 0.05: 120
(9) (i) aices g TeamE s fowr. goft G g0 3 swds ®
TrE! T YOG GREe Iehal hid ? g THT0T grafadt Id ATl
(i) == er 9 Ragen Aien nfor @ g foar.
(iii) TESAT IR 9 Akl TEAT T, AT T JEIend fosa.

| - 2 (98 - 114) |

(1) ()8,8 (ii) 450, 450 (iii) 96, 96 (iv) 6,30 (v) 24,72
) (i) 3= (i) o= (iif) = (iv) T (v) 3T
(3) 2.90 @) 10kg  (5)a)45 b)26  (6) i)540° ii)21°

[ - 3 (T8 - 120) |
(1)  0.0001cm;2cm  (2)(i)@ (if) e (iii) . (3)4cm
(4) o 5 WS A g Bist Hied qaedTa foaal.
o =RET URfidt TInUe sd. dt aeTa fosat.
o TRATE JcIeh A5 qoFcTa fosal.
() B, =wEmt g & e STgeE JHId Sewd.
(i) T, TREAT W] & AT AABeETAT YHIUIG TEHd AT
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(e = 4 (98 = 175)

(1) ey (2)20% %2 (3) 3" =35% (4) 16%
(5) TER = 165% fhaT 16.66% TR = 8%% fehar 83.33% (6) 7200
(7) 15 (8) M 70% ; TG 25% ; a 5% (9) 2000
[ - 5 (38 - 136) |

1
1) 125% or 12.5% (2) 6% (3) Z.2,00,000 4z 175
(5)  loss=1200(2.44%) (6)561 (7)202.5 (8) 800 (9) 1100
[ - 6 (98 - 140) |
(1) 2wEsu e o a2 (2)12%
(3) 7. 450 (4) 212958 (5) 1% I

07 - qrnf=h gt

Eea 1 (98 - 147 ) |
(1) @) 33°C (ii)30°C (2) 15,9000 kg

(3) (i) &R %:7500 ; S 2:4000 ; Heht T:5250 (i) YR (4) 42
(5) () 23 (i)21 (iii) 16.5 (iv)@@n (6) (1)Z:18 (ii)T:54 (iii)Z:9 (iv) ywmoma

(7) 5.5 (8)5.6 (9) 107

EEE 2 (98 - 152 ) |

(1) 155cm ~ (2) (i)W =28,AAH =27  (ii) 2 ©BEA YIh! a7 25 a8

3) 25 (4) (i) A=A (i) HA (iii)7=T  (iv) HEATH

e 3 (g8 - 155) |

(1) G)F )T (@i)F @(Qv)F (2) ()%:1400 (ii)Z:1450

(3) WEATh SISR 3T HEIWH ehid 3718, 4) s (5) 11

w4 (98 - 160 ) |

(5) () Breor (i) 3= (iii) T:2250 (iv) Z:2000
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08 - Ferium=l TwHEYar

[ - 1 (g8. 169) |

(1) (@) g (ii) =
() (i) £ZP=ZR i  ZROS=/POQ
ZTQP=/SQR /R=7Q or  /R=/P
ZT=/S /S=/P or  /S=/Q
(3) (i) SRR (4) B (SM-S1-a1 HAIN)
(1) ved i M B GH=TRAHI=TS (2) AP=4km(.. AP=BQec.p.ct)
(3) (i) AABC=ASTR (i) APOQ = A ROS
AB=STalso BC=TR PO=RO also PQ=RS
Z/A=/S  /B=/T 0Q = 0S /P=/R
AC=SR /C=/R /POQ=/POS /Q=/S
@iy A DRO=A OWD DR =O0W also DO =0D
RO=WD ZODR = /DOW
Z/R=/W Z/DOR = ZODW
3ehdl [] WORD
ZR=90°

WD = OR a7ftt WO = DR
. []WORD 3TRd 3T1z.

. AWSD = ARSO
AWSO = ARSD
AvEl AORW = ADWR

(iv) AABC 3TfoT ACDA Ts&Y Tl
(4) (i) AABC 5= 37fo1 ARQP Wifgd 780l 3awdeh 318 i, AB = RQ.
(i) AABC 93 S11ftr AADC Hifgd 31un 37eweh 3118 61, AB = AD.
[@ead - 3 (98, 175) |
(1) () +1-H-a1 AABC = ARPQ  (ii) I-shI-T fohat sI-sI-w1 AABD = ACDB
(i) 1-H1-H1 fehal HI-HI-a1 AAOB = ADOC (iv) SI-shI-h! AABC = AFED
(2) () AABC = ADCB (hI-I-dl)
(i) AB = CD (FepvI=n TsEq 9mT)
- AAOB = ADOC

AAOB 31T ADOC HRE whi-hl—hl J
THEY FIhIv e 9 8 37T,
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|emem - 4 (98, 178) |

(1) () sT-=1-a1 (i) S-H-a1 (iii) BI-F-H (iv) I ST
(2) () a)AR=PE b)RT=ENc)AT=PN (ii) a) RT=EN b)PN=AT
(i) a) /A= P b) ,T= /N

3) () o™ (ii) M (iii) TS S (iv) M-I
(4) ==&, AABC = APQR gl § hiH THH 31EdTd degl T TR Shi- TEUIdl ASH i ?
(5)  ARAT = AWON (6) AABC = AABT 371 AQRS = ATPQ

(7) (i) TRE O g BT #rer (i) IREn e gF R wier
(8) BC=QR(A.S.A) fFaTAB=PQ (A.A.S.) fRaTAC=PR (A.A.S.)
9) sB=_,E; sA= /F byA.AS.AABC = AFED U%&Y 3l&d; BC =ED

10- = Tefi

[T - 1 (98 - 192) |
1) @) 34 (i) 24
(2) (i) o TR 4 N ARG TR H? AT FI IS THE I HI ¢
o ST S ARG ST A T TS FHH M.
(i) S wefreen quemfesT =4n ;  4,8,12,16,20..... Ml = 4n
(iii) SfSep Tefiean UEmieEI =4n+ 15 9,13, 17,21 . ... Wi =4n+ 1

B) () p+6 (i) x —4 (iii) y—8 (iv)-5¢ (v) y+4 or£
L P4 . .
(vi) ZOf pq or == (vii)5+3z  (viii) 5x+10  (ix)2y-5 (x)10y+13
4) () “xvem Sreq 3 ° fohan 3 fresfoeem x (ii) 9 HEF 7 a0 (i) 7
e 10. (1v) x ¥TTeITE 5

(v) nT9E 3 3T 11 foesed
(vi) y TUTCATE 2 1 Shed ™ S fohaT 5 IS hedmd 2 9@l y

(5) () fr (i)"ead (iii) fer (iv) sewd
[EemE = 2 (38 -199) |
() @ (@, —2a% (i) (-yz,2zy) (iii) (-2xy,5%) (iv) (7p,—2p, 3p) and (8pq, —5pq)
Q) SifSrep Teft : TR -, i, iV, Vi, Vil,ix, Xi
ToTeer fergebwoT : SRUT | iii, v, viii, X
3) RIS i, iv, vi ; 89S : i, v, vii ; Prod) o wehad : i, viii, ix, x
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4 @1 (@3 @)s G4 v)2 i3 (B) @)1 @2 ()4 (iv)3
v)y 4 (vi)2 (6) xy+tyz 2x*+3x+5
[ - 3 (98 - 204) |

(1) 3a+2a=5a (2) ()13x (i) 10x (3) ()31 (i)—61° (iii) 11m? (4) (i)-1
()4(ii) -2 (5)-9 (6)22+11x=9 (7) ()3 (ii)5 (iii)—1 (8)54 cm xcm = 54 cm?

9) 2. 90 (10) s=i _135m =%mt./Sec., 0r13%mt./Sec., orl3.5mt./ Sec.,

t 10sec

(=™ - 4 (98 - 209) |

(1) (@) =5x*+xy+ 87 (ii) 10a>+7b? +4ab (iii) 7x +8y -7z (iv) —4x*—5x

2) 7x+9 (3)18x—2y (4) 5a-2b (5) () 3a (ii) =2z (iii) 64>+ 12ab +4b2
(iv) 4pg +3p*—2¢*> (V)4-Tx—x* (vi) 8x* —4xy —9y* (vii) 9m® +4m’+ Tm+ 1
6) Tx*txy—6y* (7) x=2x* (8) 2x* =52+ 1lxy+40 (9) 2a*>+6a+5

(10) (1) 22x*+ 12y +8xy (ii) — 14x* — 10y*—20xy or — (14x* + 10y*+ 20 xy)

11 - 9@

EeEE -1 (98 - 214) |

. ()3x3x3x3  (i)7xxx7xx  (ii)5x5x5xaxaxaxbxbxb

(V)4 x4 X4 x4 X4 XyXyXyXyXy 2. ()70 (i) 33x 5% (i) 23x 44x 53

3. (1) 2°x 32 (i1) 2 x 5¢ (i) 2x 32x 5% (iv) 24x 32x 52 (V) 2°x3x 52
4, (i) 3 (ii) 3° (iii) 28 5. ()17 (ii) 31 (iii) 25 (iv)1
e - 2 (g8 - 225) |
(H - ()2¢ (ii) 3'° (iii) 5° (iv) 9% v) (%) (vi) 3%
§ . NEA )
(vit) 3* (viii) 6* (ix) 2% (x) 10 (xi) i = P = g

5 1
(xii) 219210 (xiii) i—s (xiv) 15  (xv)(-4)} (xvi) 9% (xvii) (—6)4

xvii) (-7)°  xix)(-6)'¢  (xix)a"”  (2) 30 (3)2 @2 (51
6)  ()TEQR+11=13) (i) 3= (iii) T (iv)TF (V) = (vi) STEH (vil) T
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12 - <=l

[ - 1 (98 - 232 )
()  @® ¥ PQ, QR.RS:Rp ®M: ~QPS, /PSR, /SRQ, /RQP
fig: P Q,R,S 90 pR.> QS

(i) @A SEA S PQ, QR; QR,RS; RS,SP and SP,PQ
AT b= ST : ~ QPS, ,PSR; /PSR, /SRQ; ,SRQ, /RQP
amfer L RQP, , QPS
foeg IS Se= ;. PS, QR T QP, RS
fereg A=A Sre=m :  QPS, , SRQ amfr PSR, ,RQP
A B

(2) 100°  (3) 48°,72°, 96°, 144° (4) 90°,90°,90°, 90° o
(5) 75° 85°,95°,105° C 1 D
(6) AT A 180° AT
(@™ - 2 (38 - 247 )|
() ()ema ()T (i) (iv)8F  (VFA  (vi) T (vil)Td  (viii) T
() ()4 amea (i) SERMTA FHRHHRIG S5 FHIL STEATd.

(iii) =ET=! T REHT HTTAT.

(iv) FrET= foeg SIS T A9 JTEdTd.
(3) ,BAD=140°, ,DCB=140°, , CDA =40° (4) 50°, 130°, 50°, 130°

(5) ST 4 |9 I QA 19 HATR EAE.; CA , DR 6)1

(7) fosg ®F UM THamE. (8) 15 cm, 9cm, 15¢cm, 9cm
(9) TUSGS FhHTAT §T5 THH TEATd. (10) £C=150°, ZD=150"
(11) (i) ¥ (ii) 3TRrd (iif) 180° - x°
(iv) == (v) 10 (vi) 90°
(vii) 0 (viii) 10 (ix) 45
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13 - &% afor giferh

(e - 1 (38 - 245)

(1) 2(I+b);a*> (2) 60 cm;22cm; 484 cm?  (3) 280cm?; 68cm; 18cm; 216cm?; 10cm; 5S0cm

| e - 2 (I8 - 249) |
(1) (i)28cm? (ii) I5cm?  (iii) 38.76cm?  (iv) 24cm? (2)(1)91.2cm? (i) 11.4cm

(3) 42cm;30cm (4) 8cm ; 24cm (5) 30m, 12m (6) 80m
(e - 3 (38 - 252) |

(1) (1)200cm? (i1) 12em? (i) 20.25cm?  (iv) 12cm? (2) (1) 12cm?  (ii) 3cm

(3) 30cm?;4.62cm (4)27cm?;7.2cm

(5) 64cm?;8™ ; ABEC, ABAE 3101 ACDE tiH Behvqa @F HHiaX 3fed. W1 BC o1
WAD, BC=AE+ED

(6) TH APQR Wed, PR & UM 318, %R9T QSLPR.  (7) 40cm  (8)20 cm;40cm

(9)20cm (10)800cm?  (11)160cm?  (12)192cm?  (13) 18 cm; 12cm

|EmeE - 4 (98 - 257) |

(1) (1)20cm? (ii) 24cm? (2) 96cm? ; 150 mm: 691.2m>  (3) 18cm (4) 506.25

| = - 5 (98 - 260) |

(1) (1)220cm (ii))26.4cm  (iii)) 96.8 cm 2)(1)55m (i) 17.6m (i) 15.4m

3) (1)(@)5024cm  (b)94.2cm  (c)1256cm (i) 7cm (4)42 cm

(5)10.5cm  (6)3 times (73n:2r  (8)1.75cm (9)94.20cm  (10)12.3cm

| - 6 (Y8 - 263)
(1) 475m>  (2)29.5m*  (3)624m>  (4)68 m> (5)9900 m*>  ; 200100m?

14 - 2D =mivr 3D ATHRE ATHSH

[ - 1 (8 - 265) |
(1) TS : Pedios, fshohe T3, BTg,
fresan - fosidt, foehie e, &f, durerd
ﬁq:aﬁ@ﬁﬂ,wﬁ:m,w,w
(2) () M : EHHH, THTSATAT =T 9HT (i) o : BMET, B
(iii) TRl : gaofl, foer (iv) Mo : dg, e (v)  Fmed : Ui e, T
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3) HH BT e

e 6 6 .

ferma 12 12 8

L8 8 ;
[ - 2 (98 - 267) | "
(1) FAFT(2) 1) C i)a (3) PR P P —3
(= - 4 (38 - 276) | B R
1y s

[ CEE: R D)

& : ST
(2) () TS / MSHR T&

(i) = / 9" *r1g

(iii) FrepromeRdt fopan faldfis &1 STrRraTRdl STl
(iv) TSE / SRkl HETG

15 - yHTIregar

[wem 1 (g8 - 278) |

i

jj::::j 8 AR ¥ M

(1) (11) 111 (1V) (v) (vi) (V11)
(V111) (ix) (x (xn) (x111) (X1V) (XV)
(xvi1) (xvii) (xviii) (xix) (xx) (xx1) (xxiii)
3R 303
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(1) (ii) (iii) (iv) (v) (vi) (vii)
(viii) (ix)
@)

U

" OAQDUC

(i) (i) (iii) (iv) (v) (vi)
@ ()@= (i) = (iii)
(5) TN IS BE = 360/2n =360/2x4 = 360/8 = 45°
T TRYSTHAE He 3R

[@eaE 3 (98 - 286) |
1. TR 1, i, iv ST v Tehia HERT 37T
2. 1H2 @4 @3 @@¥v)4 V)4 ()5 (vi6 (vii)3

3. GIECs] | 90" 4
A HEl 180° 2
IuGe S B 180° 2
guigys <eH 3 120° 3
HIEh HEl 60° 6
EGES R I 3Hd
e Bl -

Eﬁm 4 (98 - 288 ) |

1. S &0 |2
H T2 |2
O @ 2 2
N & 0 ]2
C 1 TR ]

Sl
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forerpion  Jaon

i g
¢ 3.7 dieen i sesesn el TIivra fowemaTdt Hagee e 9 et

¢+ T g&d APSCF —2011 @ RTE — 2009 JTaR 359 NeIfieh SMMeaT= STSATHshH
freia otz

¢ B AfSH UTSAYEdsh 15 USATe TTay TgH JMe ivrar fafay s, s g
qege! SR ST, Yt o HeaTee A1 Heheu-=T FHIA TR
o I1 THUNAIS HFeheuT 39 U 31Tk amiErd! vt |rgfanr faeedr, oo,

TTELRT0T BT IATE STTHEA TS hIeTE [TehTe HUATEAT 2qH hosl ST T
o guTTeSt=n IR e T3 Sfam, @ I 3ot eHied fSrerTa T ST it

5 YT GUER fo=R Shodt 378,

o 1 TR feoho! 3TaL0, Shel TRIE @ formet=n TagicHe: 3 SToehieal Tt
AT [T STTEA 3118 T fereelf s Hel el 3 TR ST TG
Bldies.

o I AT 3fewe 3 A, FredER” I famm A e g feemme ==t
EIg A1 JETA el Faferear e,

+ Toenet=n R fomR % Ao ToRtoT AISHT AT 3T 3718,

o S faemeatan yea Aisfovemand ste=vft SHa 99, STt o Igrfi veedi= IR e
T 3T1R.

o g fereneatan wfsha urgoaTa e forem s, @ aus wread, T Asfaen
Tt THTOr T i fauaTET T ShUET. IS AT ST HIel shedT TR,
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I3 TSR ST T ot

¢ T TRTOTI=AT G T2 TS TN 58 i TaTS 3T foiegd Taea feosos 37ed w8
s A1 RIhraTe! (ot e g1 Rishaoed Qe YR 3118 Qi fehdl 11
FhHHT RIhaeATH e SR HIa| WL Gt 3118, & HEd gl A1 Adfie
¥ B IR TR0 I STeehuvn e fommor 3. shives qurevar=a
YT IR HUITd ATSS ATed. 3 U AT RihraTe! (s Taeam M s
e g el a2 o woaErd! fios 3TRd 8 gead /ufshan fetenin 2
HTEIA e BUTHTS! ST e <hl, faemeaft Rreadiean Teheamt w fohdqud

HesdTd

¢ T HE TG AT AT Gobed Tarea™ iefavarare! fiemes faeneatn gasr %%
IThdTd

o 3T K TIrhes! Hed feabcst Tyl Hepeun fereneatan wstor gt et sTavash
TR,

Happy Teaching.
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AFXITAD A
(1) i .
(50 dm=) qUITTSI OMEhTL S0 AR (SAFeAISE)
| qurtes quTieRTel uTeH (ST ST MR SIEEE)

CIFEIELIGE)
2 I.E (e ol ST SR TUTHH HIHTRT ST S .
1 quifeh SfdSeTetl TR . (341,
quUifehgeRd STedieh TeE (Ed foha)

2. JYUIleh, QI YUk JAT(9 IHT FEAT

STYUTTehT=I OISR
<1 &1 YU HRH
STYUITShTET OIS AT T U=
STYUITSRT= VTSR
qUichgaa AYUITeh ISR Aedich IeTetdl (Tarear) (3fe shemmst feiar)
T T MeE (TEINyet grafavaTdied)
I1quiteR fer wftd Teameie e
i Feeie IMedis 3eEl (|d fshar)
SIS STYUITehTET ORI ST AR
T FUTGR (B 9 TEgaH)
YTedieh ISR (Hel foharen GHTasl STEa)
[ u——— HTdTeh 30T ITd-3HdE a*HdlS x =1 A SA aY Z
II.WZO?IW TR e (STrepdiseTean FOEmgT S Jehrean SHT=i HUMHs )
10. 3 T @rﬁ\l M, n eN(i) a™ a” = a™"(i1)? (a™)™ = a™(iii) a™/a" =
o " where (m-n) e N(iv) a™.b™ = (ab)™(v)
3. i ()@W&H@?ﬁm( )RS HEAT JHIUG gRAfroT /e hivl.
(et fameTgR grafamn)

Sfsres Teft

Teh fohal QF 9 STHSean AT i efih () ofiew

oo TETUs uTd A= STeE

THH Ue ST It U TR Ord I X2y S (VTR 73 oAl qeAn 72
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